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NEW QUESTION 1
You are developing an application that includes the following code segment. (Line numbers are included for reference only.)

c~Tanm

=3 i

The GetAnimals() method must meet the following requirements: Connect to a Microsoft SQL Server database.

Create Animal objects and populate them with data from the database. Return a sequence of populated Animal objects.
You need to meet the requirements.

Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A. Insert the following code segment at line 16: while(sqlDataReader.NextResult())
B. Insert the following code segment at line 13: sglConnection.Open();

C. Insert the following code segment at line 13: sglConnection.BeginTransaction();
D. Insert the following code segment at line 16: while(sqlDataReader.Read())

E. Insert the following code segment at line 16: while(sglDataReader.GetValues())

Answer: BD

Explanation: B: SglConnection.Open - Opens a database connection with the property settings specified by the ConnectionString.
Reference: http://msdn.microsoft.com/en-us/library/system.data.sqlclient.sglconnection.open.aspx D: SqlDataReader.Read - Advances the SglDataReader to the
next record. Reference: http://msdn.microsoft.com/en-us/library/system.data.sqlclient.sgldatareader.read.aspx

NEW QUESTION 2

DRAG DROP

You are developing an application by using C#. The application includes an array of decimal values named loanAmounts. You are developing a LINQ query to
return the values from the array.

The query must return decimal values that are evenly divisible by two. The values must be sorted from the lowest value to the highest value.

You need to ensure that the query correctly returns the decimal values.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer:

Explanation: Note: In a query expression, the orderby clause causes the returned sequence or subsequence (group) to be sorted in either ascending or
descending order.

Examples:

/I Query for ascending sort. IEnumerable<string> sortAscendingQuery = from fruit in fruits

orderby fruit //"ascending" is default select fruit;
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/I Query for descending sort. IEnumerable<string> sortDescendingQuery = from w in fruits
orderby w descending select w;

NEW QUESTION 3
An application receives JSON data in the following format:

PFirscName™ : "Dawvid"™,
"LastName™ : "Jones",
"Values® : [0, 1, 27
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You need to ensure that the ConvertToName() method returns the JSON input string as a Name object.

Which code segment should you insert at line 10?

A. Return ser.ConvertToType<Name>(json);
B. Return ser.DeserializeObject(json);

C. Return ser.Deserialize<Name>(json);

D. Return (Name)ser.Serialize(json);

Answer: C

Explanation: JavaScriptSerializer.Deserialize<T> - Converts the specified JSON string to an object of type T. http://msdn.microsoft.com/en-

us/library/bb355316.aspx

NEW QUESTION 4

DRAG DROP
An application serializes and deserializes XML from streams. The XML streams are in the following format:
<Hame xm ns="http://wWWw.contozo.com/2012/06">
{LastName>Jones</LastName>
<F David</FirstName>
-

The application reads the XML streams by using a DataContractSerializer object that is declared by the following code segment:

var ser = new DataContractSerializer(typeof(Name));

You need to ensure that the application preserves the element ordering as provided in the XML stream.

How should you complete the relevant code? (To answer, drag the appropriate attributes to the correct locations in the answer area-Each attribute may be used

once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer:

Explanation: Target 1: The DataContractAttribute.Namespace Property gets or sets the namespace for the data contract for the type. Use this property to specify
a particular namespace if your type must return data that complies with a specific data contract.

Target2, target3: We put Order=10 on FirstName to ensure that LastName is ordered first. Note:

The basic rules for data ordering include:

* |f a data contract type is a part of an inheritance hierarchy, data members of its base types are always first in the order.

* Next in order are the current type’s data members that do not have the Order property of the DataMemberAttribute attribute set, in alphabetical order.

* Next are any data members that have the Order property of the DataMemberAttribute attribute set. These are ordered by the value of the Order property first and
then alphabetically if there is more than one member of a certain Order value. Order values may be skipped.

Reference: Data Member Order

https://msdn.microsoft.com/en-us/library/ms729813(v=vs.110).aspx Reference: DataContractAttribute.Namespace Property https://msdn.microsoft.com/enus/
library/system.runtime.serialization.datacontractattribute.namespace(v=vs.110).aspx

NEW QUESTION 5

You are developing an application. The application converts a Location object to a string by using a method named WriteObject. The WriteObject() method accepts
two parameters, a Location object and an XmlObjectSerializer object.

The application includes the following code. (Line numbers are included for reference only.)
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You need to serialize the Location object as a JSON object. Which code segment should you insert at line 20?

A. New DataContractSerializer(typeof(Location))

B. New XmlSerializer(typeof(Location))

C. New NetDataContractSenalizer()

D. New DataContractJsonSerializer(typeof(Location))

Answer: D

Explanation: The code is using [DataContract] attribute here so need to use DataContractSerializer class.
The DataContractJsonSerializer class serializes objects to the JavaScript Object Notation (JSON) and deserializes JSON data to objects.
Use the DataContractJsonSerializer class to serialize instances of a type into a JSON document and to deserialize a JSON document into an instance of a type.

NEW QUESTION 6
An application includes a class named Person. The Person class includes a method hamed GetData.
You need to ensure that the GetData() from the Person class. Which access modifier should you use for the GetData() method?

A. Internal

B. Protected

C. Private

D. Protected internal
E. Public

Answer: B

Explanation: Protected - The type or member can be accessed only by code in the same class or structure, or in a class that is derived from that class.
The protected keyword is a member access modifier. A protected member is accessible within its class and by derived class instances.
Reference: http://msdn.microsoft.com/en-us/library/ms173121.aspx

NEW QUESTION 7
You are developing an application by using C#. The application includes the following code segment. (Line numbers are included for reference only.)
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The DoWork() method must not throw any exceptions when converting the obj object to the IDataContainer interface or when accessing the Data property.
You need to meet the requirements. Which code segment should you insert at line 077
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A. var dataContainer = (IDataContainer)obj;
B. dynamic dataContainer = obj;

C. var dataContainer = obj is IDataContainer;
D. var dataContainer = obj as IDataContainer;

Answer: D

Explanation: As - The as operator is like a cast operation. However, if the conversion isn't possible, as returns null instead of raising an exception.
http://msdn.microsoft.com/en-us/library/cscsdfbt(v=vs.110).aspx

NEW QUESTION 8

You are creating an application that manages information about zoo animals. The application includes a class named Animal and a method named Save.
The Save() method must be strongly typed. It must allow only types inherited from the Animal class that uses a constructor that accepts no parameters.
You need to implement the Save() method. Which code segment should you use?

i

[ = " =

A public static void Save<T> (T target) where T : new(),
- - -
B public static void Save<T>(T target) where T :
L] L ] L]
L public static void Save<l>(l target) here 1 , hew|
L] - -
D publlic static void ocave| target)
e
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

Explanation: The condition new() ensures the empty/default constructor and must be the last condition.

When you define a generic class, you can apply restrictions to the kinds of types that client code can use for type arguments when it instantiates your class. If
client code tries to instantiate your class by

using a type that is not allowed by a constraint, the result is a compile-time error. These restrictions are called constraints. Constraints are specified by using the
where contextual keyword. http://msdn.microsoft.com/en-us/library/d5x73970.aspx

NEW QUESTION 9
You are developing an application that will convert data into multiple output formats.
The application includes the following code. (Line numbers are included for reference only.)
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You are developing a code segment that will produce tab-delimited output. All output routines implement the following interface:
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation: A String object concatenation operation always creates a new object from the existing string and the new data.

A StringBuilder object maintains a buffer to accommodate the concatenation of new data. New data is appended to the buffer if room is available; otherwise, a
new, larger buffer is allocated, data from the original buffer is copied to the new buffer, and the new data is then appended to the new buffer. The performance of a
concatenation operation for a String or StringBuilder object depends on the frequency of memory allocations. A String concatenation operation always allocates
memory, whereas a StringBuilder concatenation operation allocates memory only if the StringBuilder object buffer is too small to accommodate the new data. Use
the String class if you are concatenating a fixed number of String objects. In that case, the compiler may even combine individual concatenation operations into a
single operation. Use a StringBuilder object if you are concatenating an arbitrary number of strings; for example, if you're using a loop to concatenate a random
number of strings of user input.

http://msdn.microsoft.com/en-us/library/system.text.stringbuilder(v=vs.110).aspx

NEW QUESTION 10
You are creating a class named Employee. The class exposes a string property named EmployeeType. The following code segment defines the Employee class.
(Line numbers are included for reference only.)
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The EmployeeType property value must be accessed and modified only by code within the Employee class or within a class derived from the Employee class.
You need to ensure that the implementation of the EmployeeType property meets the requirements. Which two actions should you perform? (Each correct answer
represents part of the complete solution. Choose two.)

A. Replace line 05 with the following code segment: protected get;

B. Replace line 06 with the following code segment: private set;

C. Replace line 03 with the following code segment: public string EmployeeType

D. Replace line 05 with the following code segment: private get;

E. Replace line 03 with the following code segment: protected string EmployeeType
F. Replace line 06 with the following code segment: protected set;

Answer: BE

Explanation: protected string EmpType { get; private set;}
This is a quite common way to work with properties within base classes. Incorrect:
Not D: Cannot be used because of the internal keyword on line 03.

NEW QUESTION 10
You are implementing a method named Calculate that performs conversions between value types and reference types. The following code segment implements
the method. (Line numbers are included for reference only.)
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You need to ensure that the application does not throw exceptions on invalid conversions. Which code segment should you insert at line 04?

A. int balance = (int) (float)amountRef;

B. int balance = (int)amountRef;

C. int balance = amountRef;

D. int balance = (int) (double) amountRef;

Answer: A

Explanation: Explicit cast of object into float, and then another Explicit cast of float into int. Reference: explicit (C# Reference)
https://msdn.microsoft.com/en-us/library/xhbhezf4.aspx

NEW QUESTION 11
You are creating a console application by using C#. You need to access the application assembly. Which code segment should you use?

A. Assembly.GetAssembly(this);

B. this.GetType();

C. Assembly.Load();

D. Assembly.GetExecutingAssembly();

Answer: D

Explanation: Assembly.GetExecutingAssembly - Gets the assembly that contains the code that is currently executing.
Reference: http://msdn.microsoft.com/enus/ library/system.refilection.assembly.getexecutingassembly(v=vs.110).aspx Incorrect:
Not A: Assembly.GetAssembly - Gets the currently loaded assembly in which the specified class is defined.
http://msdn.microsoft.com/en-us/library/system.refilection.assembly.getassembly.aspx

NEW QUESTION 15

HOTSPOT

You are implementing a library method that accepts a character parameter and returns a string. If the lookup succeeds, the method must return the corresponding
string value. If the lookup fails, the method must return the value "invalid choice.”

You need to implement the lookup algorithm.

How should you complete the relevant code? (To answer, select the correct keyword in each dropdown list in the answer area.)
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Answer:
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Explanation:

switch(letter){ case ‘a’:

case ‘m’: default:

}

Reference: switch (C# Reference)
http://msdn.microsoft.com/en-us/library/06tc147t(v=vs.110).aspx

NEW QUESTION 17
You are developing an application that includes a class named UserTracker. The application includes the following code segment. (Line numbers are included for
reference only.)

U1l public delegate void AddUse y 11k r{int 1)
) - - "-- -"

I-‘- pu‘b**-—r J-'--EEE

03

.| e T - v - —— Lol L] T -

0& <User> users = new < >():

035 public void AddUser (string name, i . callback)
ce {

Q7 users.add(new User (name)) :

= 5 Wy 1 N ™ - -

08 callback(users.Count);

09 \

g | % T m e -

12 public class -

1 9

15 Useriracker tracker = new Userlracker():
- i -i‘- L - o —

16 public void Add(string name)

ql-lr .l

1=

.'; .I

You need to add a user to the UserTracker instance. What should you do?
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A Insert the following code segment at line 14:

Insert the following code segment at line 18:

\ddUss - ‘k callback = PrintUserCount:

B, Insert the following code segment at line 11:

3 1 - - s -} a2 ™ g E - -
delegate void AddUserDelegate (UserTracker user

Insert the following code segment at line 18:

L. Insert the following code segment at line 11:

- 1
A= L

]

- il e M — = i X L am e - - =
gate void AddUserDelegate(string name, AddUserCallback callback):

Insert the foliowing code segment at line 18:

adder = (i1, callback) =>

" D.  Insert the following code segment at line 18:

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 18

DRAG DROP

You develop an application that displays information from log files when errors occur. The application will prompt the user to create an error report that sends
details about the error and the session to

the administrator.

When a user opens a log file by using the application, the application throws an exception and closes. The application must preserve the original stack trace
information when an exception occurs during this process.

You need to implement the method that reads the log files.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer:

Explanation: StreamReader - Implements a TextReader that reads characters from a byte stream in a particular encoding.
Reference: http://msdn.microsoft.com/en-us/library/system.io.streamreader(v=vs.110).aspx
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Once an exception is thrown, part of the information it carries is the stack trace. The stack trace is a list of the method call hierarchy that starts with the method that
throws the exception and ends with the method that catches the exception. If an exception is re-thrown by specifying the exception in the throw statement, the
stack trace is restarted at the current method and the list of method calls between the original method that threw the exception and the current method is lost. To

keep the original stack trace information with the exception, use the throw statement without specifying the exception.
Reference: http://msdn.microsoft.com/en-us/library/ms182363(v=vs.110).aspx Incorrect:

StringReader - Implements a TextReader that reads from a string.

Reference: http://msdn.microsoft.com/en-us/library/system.io.stringreader(v=vs.110).aspx

NEW QUESTION 22
DRAG DROP

You are developing an application that includes a class named Kiosk. The Kiosk class includes a static property named Catalog. The Kiosk class is defined by the
following code segment. (Line numbers are included for reference only.)
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You have the following requirements:

Initialize the _catalog field to a Catalog instance. Initialize the _catalog field only once.

Ensure that the application code acquires a lock only when the _catalog object must be instantiated. You need to meet the requirements.

Which three code segments should you insert in sequence at line 09? (To answer, move the appropriate code segments from the list of code segments to the
answer area and arrange them in the correct order.)

- i -SCK
if ( catraleg '= nuil atalog = new Catalog
L
'R . = - e
% ataleg !'= bi
-1 - _CataloQ == null ACALDQ = &w Catalog
]
if ATAC N il
Answer:

Explanation: After taking a lock you must check once again the _catalog field to be sure that other threads didn't instantiated it in the meantime.

NEW QUESTION 25

DRAG DROP

You are developing an application that will include a method named GetData. The GetData() method will retrieve several lines of data from a web service by using
a System.lO.StreamReader object. You have the following requirements:

The GetData() method must return a string value that contains the first line of the response from the web service.

The application must remain responsive while the GetData() method runs. You need to implement the GetData() method.

How should you complete the relevant code? (To answer, drag the appropriate objects to the correct locations in the answer area. Each object may be used once,
more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer:

Explanation: Box 1. async

Box 2. await

Box 3. ReadLineAsync(); Incorrect:

Not Box 3: ReadToEndAsync() is not correct since only the first line of the response is required.

NEW QUESTION 28

You are adding a public method named UpdateScore to a public class named ScoreCard. The code region that updates the score field must meet the following
requirements:

It must be accessed by only one thread at a time. It must not be vulnerable to a deadlock situation. You need to implement the UpdateScore() method. What
should you do?

E dd 3 v ject named lockObject to the ScoreCard class. Face the code region inside tha fallowing lock statement
LackChye
L Apply the following attribute to the UpdateScore() method srgnature
[Mathadimpl{MathodimplOptions, Synchranized))
U add a pubiic static object named lockObject to the ScoreCard class. Place the code region inside the following lock statement

P |

. Option A
. Option B
. Option C
. Option D

o0 >

Answer: B

Explanation: Because the class is public, you need a private lock Object. Reference: lock vs. MethodImplOptions.Synchronized [Kit George]
http://blogs.msdn.com/b/bclteam/archive/2004/01/20/60719.aspx

NEW QUESTION 31
You are developing a method named CreateCounters that will create performance counters for an application.
The method includes the following code. (Line numbers are included for reference only.)
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You need to ensure that Counterl is available for use in Windows Performance Monitor (PerfMon). Which code segment should you insert at line 16?

A. CounterType = PerformanccCounterType.RawBase

B. CounterType = PerformanceCounterType.AverageBase

C. CounterType = PerformanceCounterType.SampleBase

D. CounterType = PerformanceCounterType.CounterMultiBase

Answer: C

Explanation: Note SampleFraction on line 9. The Base counter type SampleBase has the Parent
(composite) counter type SampleFraction.

Reference: PerformanceCounterType Enumeration
http://msdn.microsoft.com/en-us/library/system.diagnostics.performancecountertype.aspx

NEW QUESTION 35
You are developing an application that will transmit large amounts of data between a client computer and a server.
You need to ensure the validity of the data by using a cryptographic hashing algorithm. Which algorithm should you use?

A. HMACSHA256

B. RNGCryptoServiceProvider
C.DES

D. Aes

Answer: A

Explanation: The .NET Framework provides the following classes that implement hashing algorithms: HMACSHAL.

MACTripleDES. MD5CryptoServiceProvider. RIPEMD160.

SHA1Managed. SHA256Managed. SHA384Managed. SHA512Managed.

HMAC variants of all of the Secure Hash Algorithm (SHA), Message Digest 5 (MD5), and RIPEMD-160 algorithms.

CryptoServiceProvider implementations (managed code wrappers) of all the SHA algorithms. Cryptography Next Generation (CNG) implementations of all the MD5
and SHA algorithms. Reference: http://msdn.microsoft.com/en-us/library/92f9ye3s.aspx#hash_values

NEW QUESTION 37
You are debugging an application that calculates loan interest. The application includes the following code. (Line numbers are included for reference only.)

-y - [ v - Ik & - = | ! = 1 - el - W e = - =
rivace =rTatCI i Lmal saloplacelinrearaest (decliEmal loanAmOuUnT, AT LoAnTeET jecimal _oAnHare)

- IS LIRS L LN CE TS T AS UNE = _O3TIALCUNnET ~oENAATE LB I ETIE:

You need to ensure that the debugger breaks execution within the Calculatelnterest() method when the loanAmount variable is less than or equal to zero in all
builds of the application.
What should you do?
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A. Insert the following code segment at line 03: Trace.Assert(loanAmount > 0);
B. Insert the following code segment at line 03: Debug.Assert(loanAmount > 0);
C. Insert the following code segment at line 05: Debug.Write(loanAmount > 0);
D. Insert the following code segment at line 05: Trace.Write(loanAmount > 0);

Answer: A

Explanation: By default, the Debug.Assert method works only in debug builds. Use the Trace.Assert method if you

want to do assertions in release builds. For more information, see Assertions in Managed Code. http://msdn.microsoft.com/en-us/library/kssw4w7z.aspx
Incorrect:

Not B: Debug.Assert only works in debug mode. Here it must work in all builds of the application.

NEW QUESTION 40

You are adding a public method named UpdateGrade to a public class named ReportCard. The code region that updates the grade field must meet the following
requirements:

It must be accessed by only one thread at a time. It must not be vulnerable to a deadlock situation.
You need to implement the UpdateGrade() method. What should you do?

Add a private object named lockObject to the ReportCard class. Place the code region inside the following lock statement:
B.  Place the code region inside the following fock statement:
add a public static object named lockOhject to the ReportCard class. Place the code regron insde the follawing loc
SLATamant
U apply the following attribute to the UpdateGrade() method signatura:
[Mathodlimpl{ Method]ImplOptions. Synchromzed )]
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

Explanation: Because the class is public, you need a private lock Object. Incorrect:
Not B, not C: Once the ReportCard is public, other process can lock on type or instance. So, these options are leaning to a DEADLOCK.

Not D: [MethodImpl] attribute works locking on type (for static members) or on the instance(for instance members). It could cause a DEADLOCK.
Reference: https://msdn.microsoft.com/en-us/library/c5kehkcz.aspx

NEW QUESTION 41

You are developing an application that includes a class named BookTracker for tracking library books. The application includes the following code segment. (Line
numbers are included for reference only.)
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01 public delegate void AddBookCallback(int 1)
02 public class BookIracke:

03 {

04 Li=st<E > books = new List<Book>():

05 public void AddBook(string name, AddBookCallback
06 ‘

o7 books.Add (new ¢« (name) ) ;

08 callback(books.Count);

05 }

10 }

11

12 public class Eunne:

13 {

14

15 SookTracker tracker = new SookTracker():
16 public void Add(string name)

17 {

18

i9 !

20 }

You need to add a user to the BookTracker instance. What should you do?
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" A Insert the following code segment at line 14:

privace static void PrinctSocokCount(int 1)

Insert the following code segment at line 18:

AddBookCallback callback = PrintBookCount;

@ B.  Insert the following code segment at line 18:

tracker . AddBSook (name, delegate(int i)

" C.  Insert the following code segment at line 11:
delegate void AddBookDelegate (3ockTracker bookiracker):

Insert the following code segment at line 18:

te addDelegate = (bookTracker) =>

addDelegate (tracker):

© D, Insert the following code segment at line 11:
delegate void AddBooklelegate(string name, AddSookCallback callback):

Insert the following code segment at line 18:

adder = (1, callback) =>

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 44

An application includes a class nhamed Person. The Person class includes a method named GetData. You need to ensure that the GetData() method can be used
only by the Person class and not by any class derived from the Person class.
Which access modifier should you use for the GetData() method?

A. Public
B. Protected internal
C. Internal
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D. Private
E. Protected

Answer: B

Explanation: The protected keyword is a member access modifier. A protected member is accessible within its class and by derived class instances.

NEW QUESTION 47

You are creating an application that manages information about your company's products. The application includes a class named Product and a method named

Save.

The Save() method must be strongly typed. It must allow only types inherited from the Product class that use a constructor that accepts no parameters.

You need to implement the Save() method. Which code segment should you use?

A, public

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The condition new() ensures the empty/default constructor and must be the last condition.
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When you define a generic class, you can apply restrictions to the kinds of types that client code can use for type arguments when it instantiates your class. If
client code tries to instantiate your class by using a type that is not allowed by a constraint, the result is a compile-time error. These restrictions are called

constraints.

Constraints are specified by using the where contextual keyword. http://msdn.microsoft.com/en-us/library/d5x73970.aspx

NEW QUESTION 48
DRAG DROP

You are developing an application by using C#. The application will output the text string "First Line" followed by the text string "Second Line".

You need to ensure that an empty line separates the text strings.

Which four code segments should you use in sequence? (To answer, move the appropriate code segments to the answer area and arrange them in the correct

order.)
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sb.Append ("\1%);
var sb = new StringBuilder():
sb.Append ("Fir=st Line");
sb.Append ("\t");
sb.Appendline();
sb.Append ( . 2pTY)
sb.Append("Secc Line"™);
Answer:
Explanation: Box 1:
var sb = new StringBuilder():

First we create the variable.
Box 2:

sb.Append ("First Line®):

We create the first text line.
Box 3:

zh . Appendline ()

We add a blank line.
The StringBuilder.AppendLine method appends the default line terminator to the end of the current StringBuilder object.
Box 4:

Finally we add the second line.

NEW QUESTION 49

DRAG DROP

You are developing a class named ExtensionMethods.

You need to ensure that the ExtensionMethods class implements the IsEmail() extension method on string objects.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

rotected sctatic clasa | Var reges =

= Temex.laMareR o)

Answer:

Explanation: Extensions must be in a static class as it kind of a shared source of extension methods. You do not instantiate the class.
The key word “this” is simply a syntax how you tell the compiler, that your method IsUrl is extension for the String object

NEW QUESTION 51
You are developing an application by using C#. The application includes the following code segment. (Line numbers are included for reference only.)
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The DoWork() method must throw an InvalidCastException exception if the obj object is not of type IDataContainer when accessing the Data property.
You need to meet the requirements. Which code segment should you insert at line 077?

A. var dataContainer = (IDataContainer) obj;
B. var dataContainer = obj as IDataContainer;
C. var dataContainer = obj is IDataContainer;
D. dynamic dataContainer = obyj;

Answer: A

Explanation: direct cast. If object is not of the given type, an InvalidCastException is thrown. Incorrect:
Not B: If obj is not of the given type, result is null. Not C: If obj is not of a given type, result is false.
Not D: This simply check the variable during runtime. It will not throw an exception. Reference: http://msdn.microsoft.com/en-us/library/ms173105.aspx

NEW QUESTION 55
An application will upload data by using HTML form-based encoding. The application uses a method named SendMessage.
The SendMessage() method includes the following code. (Line numbers are included for reference only.)
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The receiving URL accepts parameters as form-encoded values.
You need to send the values intA and intB as form-encoded values named a and b, respectively. Which code segment should you insert at line 04?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: WebClient.UploadValuesTaskAsync - Uploads the specified name/value collection to the resource identified by the specified URI as an
asynchronous operation using a task object. These methods do not block the calling thread.
http://msdn.microsoft.com/en-us/library/system.net.webclient.uploadvaluestaskasync.aspx

NEW QUESTION 59

You are developing an application. The application converts a Location object to a string by using a method named WriteObject.
The WriteObject() method accepts two parameters, a Location object and an XmlObjectSerializer object.

The application includes the following code. (Line numbers are included for reference only.)
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You need to serialize the Location object as XML. Which code segment should you insert at line 20?

A. new XmlSerializer(typeof(Location))

B. new NetDataContractSerializer()

C. new DataContractJsonSerializer(typeof (Location))
D. new DataContractSerializer(typeof(Location))

Answer: D

Explanation: The code is using [DataContract] attribute here so need to use DataContractSerializer class. The DataContractJsonSerializer class serializes objects
to the JavaScript Object Notation (JSON) and deserializes JSON data to objects.
Use the DataContractJsonSerializer class to serialize instances of a type into a JSON document and to deserialize a JSON document into an instance of a type.

NEW QUESTION 61
You are debugging an application that calculates loan interest. The application includes the following code. (Line numbers are included for reference only.)

1 ¥ LA ol Lad B3

You have the following requirements:

The debugger must break execution within the Calculatelnterest() method when the loanAmount variable is less than or equal to zero.
The release version of the code must not be impacted by any changes. You need to meet the requirements.

What should you do?

A. Insert the following code segment at tine 05: Debug.Write(loanAmount > 0);
B. Insert the following code segment at line 05: Trace.Write(loanAmount > 0);
C. Insert the following code segment at line 03: Debug.Assert(loanAmount > 0);
D. Insert the following code segment at line 03: Trace.Assert(loanAmount > 0);

Answer: C

Explanation: By default, the Debug.Assert method works only in debug builds. Use the Trace.Assert method if you want to do assertions in release builds. For
more information, see Assertions in Managed Code. http://msdn.microsoft.com/en-us/library/kssw4w7z.aspx

NEW QUESTION 63
You are developing an application that will process orders. The debug and release versions of the application will display different logo images.
You need to ensure that the correct image path is set based on the build configuration. Which code segment should you use?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: There is no such constraint (unless you define one explicitly) RELEASE. http://stackoverflow.com/questions/507704/will-if-release-work-like-if-debug-
does-in-c

NEW QUESTION 67
You are developing an application that will transmit large amounts of data between a client computer and a server. You need to ensure the validity of the data by
using a cryptographic hashing algorithm. Which algorithm should you use?

A. ECDsa

B. RNGCryptoServiceProvider
C. Rfc2898DeriveBytes

D. HMACSHA512

Answer: D

Explanation: The HMACSHA512 class computes a Hash-based Message Authentication Code (HMAC) using the SHA512 hash function.
Reference: https://msdn.microsoft.com/enus/ library/system.security.cryptography.hmacsha512(v=vs.110).aspx

NEW QUESTION 71

You are developing an application by using C#.

The application includes an object that performs a long running process.

You need to ensure that the garbage collector does not release the object's resources until the process completes.
Which garbage collector method should you use?

A. WaitForFullGCComplete()
B. SuppressFinalize()

C. collect()

D. RemoveMemoryPressure()

Answer: B
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Explanation: You can use the SuppressFinalize method in a resource class to prevent a redundant garbage collection from being called.

Reference: GC.SuppressFinalize Method (Obiject)
https://msdn.microsoft.com/en-us/library/system.gc.suppressfinalize(v=vs.110).aspx

NEW QUESTION 74

You are developing an application that uses structured exception handling. The application includes a class named Logger. The Logger class implements a

method named Log by using the following code segment:
public static void Log(Exception ex) { } You have the following requirements:

Log all exceptions by using the Log() method of the Logger class. Rethrow the original exception, including the entire exception stack. You need to meet the

requirements. Which code segment should you use?

A catch

throw ex;

.Log (new Exception());

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 78
DRAG DROP

You are developing an application that will include a method named GetData. The GetData() method will retrieve several lines of data from a web service by using

a System.lO.StreamReader object. You have the following requirements:
The GetData() method must return a string value that contains the entire response from the web service.

The application must remain responsive while the GetData() method runs. You need to implement the GetData() method.

How should you complete the relevant code? (To answer, drag the appropriate objects to the correct locations in the answer area. Each object may be used once,

more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

RezdlineAsync |
L nid CecDatcal A g ey T
Eala L Tlad SEwiatdl = = |
HeadToEndhsynce()
-
SLILNg U llekT
AWaALT
ar ar = ne [reaponse, GetReaponsaeStrsam() )
[- 5% T
e = m Cie=ig . =L
ITLLIEXT = await 3T.
Readlinel]
nEASLOENO ()
ToString()

Explanation: Box 1. async

Box 2. await

Box 3. ReadLineAsync(); Incorrect:

Not Box 3: ReadToEndAsync() is not correct since only the first line of the response is required.
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NEW QUESTION 82
You are developing an application that includes a class named BookTracker for tracking library books. The application includes the following code segment. (Line
numbers are included for reference only.)

callback{book=.Count) ;

01 public delegate void AddBopokCallback(int i) ;

02 public class BookTracker

a3

04 Lizt<3ook>» books = new Lizt<Book>():

03> publiic void AddBook (string name, AddBookCalipack callback)
06 1

a7 books.2dd (new Sook(name}) !

08

L5 I

15 SookTracker tracker = new SoockTracker():
16 publiic wvoid Add(=string name)

You need to add a book to the BookTracker instance. What should you do?

A Insert the following code segment at line 18:

tracker.AddEook (name, delegate(int i)

bt
—
e

B.  Insert the following code segment at line 11:
delegatevoidAddBockDelegate (stringname, AddBookCzllback callback);

Insert the following code segment at line 18:

LidBookDelegateadder = {1, callback) =>

C.  Insert the following code segment at line 11:
delsgatevolidhddBockDelegate (EookTracksr bookTracker) ;

Insert the following code segment at line 18:

LidBookDelaegatedddbDelegate = (bookTracker) =»

addbelegate (tracker) ;

0. Insert the following code segment at line 14:

private static void PrintBookCount (int i)

Insert the foliowing code segment at line 18:

ABookCallkhack callhack = PrintBookCount:

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 87
You are developing an application by using C#. You provide a public key to the development team during development.
You need to specify that the assembly is not fully signed when it is built.
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Which two assembly attributes should you include in the source code? (Each correct answer presents part of the solution. Choose two.)

A. AssemblyFlagsAttribute

B. AssemblyKeyFileAttribute

C. AssemblyConfigurationAttribute
D. AssemblyDelaySignAttribute

Answer: BD

Explanation: * AssemblyDelaySignAttribute

Specifies that the assembly is not fully signed when created.

* The following code example shows the use of the AssemblyDelaySignAttribute attribute with the AssemblyKeyFileAttribute.

using System;

using System.Refilection; [assembly:AssemblyKeyFileAttribute(“TestPublicKey.snk™)] [assembly:AssemblyDelaySignAttribute(true)]
namespace DelaySign

{

public class Test { }

}

Reference: http://msdn.microsoft.com/en-us/library/t07a3dye(v=vs.110).aspx

NEW QUESTION 91
You are developing an application that will transmit large amounts of data between a client computer and a server. You need to ensure the validity of the data by
using a cryptographic hashing algorithm. Which algorithm should you use?

A. RSA

B. HMACSHA256

C. Aes

D. RNGCryptoServiceProvider

Answer: B

Explanation: The HMACSHA256 class computes a Hash-based Message Authentication Code (HMAC) by using the SHA256 hash function.
Reference: https://msdn.microsoft.com/enus/ library/system.security.cryptography.hmacsha256(v=vs.110).aspx

NEW QUESTION 92

You are creating an application that manages information about your company's products. The application includes a class named Product and a method named
Save.

The Save() method must be strongly typed. It must allow only types inherited from the Product class that use a constructor that accepts no parameters.

You need to implement the Save() method. Which code segment should you use?

A public static void Save (Product target)

{
h

=

ublic static void Save<T>(T target) where

C. public static wvoid Save<T>(T target) where T : new()

=
1

ublic static void Save<T>(T target) where

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The condition new() ensures the empty/default constructor and must be the last condition.

When you define a generic class, you can apply restrictions to the kinds of types that client code can use for type arguments when it instantiates your class. If
client code tries to instantiate your class by using a type that is not allowed by a constraint, the result is a compile-time error. These restrictions are called
constraints.

Constraints are specified by using the where contextual keyword. http://msdn.microsoft.com/en-us/library/d5x73970.aspx
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NEW QUESTION 93
You are creating a class named Employee. The class exposes a string property named EmployeeType. The following code segment defines the Employee class.
(Line numbers are included for reference only.)

‘A 1= - . T o -

01 public class Emplo

niEE

o

Fat | - - -~ - T T+
o3 internal string Emnployeselype
o

&

o4

L™

05 et

sl

06 set;

07

0

.

e

)

The EmployeeType property value must meet the following requirements:

The value must be accessed only by code within the Employee class or within a class derived from the Employee class.

The value must be modified only by code within the Employee class.

You need to ensure that the implementation of the EmployeeType property meets the requirements. Which two actions should you perform? (Each correct answer
represents part of the complete solution. Choose two.)

A. Replace line 03 with the following code segment: public string EmployeeType

B. Replace line 06 with the following code segment: protected set;

C. Replace line 05 with the following code segment: private get;

D. Replace line 05 with the following code segment: protected get;

E. Replace line 03 with the following code segment: protected string EmployeeType
F. Replace line 06 with the following code segment: private set;

Answer: EF

Explanation: Incorrect:
Not D: Cannot be used because of the internal keyword on line 03.

NEW QUESTION 95
You are developing an application that will transmit large amounts of data between a client computer and a server. You need to ensure the validity of the data by
using a cryptographic hashing algorithm. Which algorithm should you use?

A. RSA
B. Aes
C. HMACSHA256
D. DES

Answer: C

NEW QUESTION 100

You are developing an application. The application calls a method that returns an array of integers named customerlds. You define an integer variable named
customerldToRemove and assign a value to it. You declare an array named filteredCustomerlds.

You have the following requirements.

Remove duplicate integers from the customerlds array.

Sort the array in order from the highest value to the lowest value.

Remove the integer value stored in the customerldToRemove variable from the customerlds array. You need to create a LINQ query to meet the requirements.
Which code segment should you use?

- intl] filteredCu=stomerlds = customer

| JWhers (vralue => yalyme !=

R N T
r..-\.nr.-.i.'-: L

A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

Explanation: The Distinct keyword avoids duplicates, and OrderByDescending provides the proper ordering from highest to lowest.

NEW QUESTION 101
You are developing an application that will transmit large amounts of data between a client computer and a server. You need to ensure the validity of the data by
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using a cryptographic hashing algorithm. Which algorithm should you use?

A. DES

B. HMACSHA512

C. RNGCryptoServiceProvider
D. ECDsa

Answer: B

Explanation: The HMACSHA512 class computes a Hash-based Message Authentication Code (HMAC) using the SHA512 hash function.
Reference: https://msdn.microsoft.com/enus/ library/system.security.cryptography.hmacsha512(v=vs.110).aspx

NEW QUESTION 103
You are developing a C# application that includes a class named Product. The following code segment defines the Product class:

public cia=ss Prc
publiic int Id { get: set: }
publiic int CategoryId { get; =et:
public string HName { get; =et; }
public bool IaValid { get; =et:

You implement System.ComponentModel.DataAnnotations.|ValidateableObject interface to provide a way to validate the Product object.
The Product object has the following requirements: The Id property must have a value greater than zero.

The Name property must have a value other than empty or null.

You need to validate the Product object. Which code segment should you use?

A public bool Validata()
TaValid=T4 > 2 ‘airing,. ITaRall0cERpLyY [Hagel
return Iavalid:
B punolic EFe - » Validace (Vs T velidatienContext)
if [Id «=
1 "Eroduct Id 13 zeguizsd.V, new ol L
o
"Erodact ma I reguire ;o e Wame" 1)
| public ko Cquaia producrIcValidace]
produseToValidese, ZaVal2d = produstiovalisare.Id > 0O acring. IasullCrZmpry(produceicVal idace Hame) !
return prodectioVelidate.lsValid:
D punlic ValidericnResult Validace
plidaviengesule = apll
£ [Ig «=
alidatioafesult = ne ("Product Zd ir reguized.™):
f (mEring.Ta CrEmptyillema))
glidacioaResult = pew { duct Hame i3 requirsd.?);
ratTur pl:dariconbesalt
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 107
HOTSPOT
You are reviewing the following code:
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[Syvatem.Flagaittribute () ]

public enum Group

ukliic class User

public Group UserGroup { get; set;

For each of the following statements, select Yes if the statement is true. Otherwise, select No.

Yes MNo

& user can be a member of more than one of 'S e
the groups.

If the user belongs to only the Administrators
group, the following code will return a value r .
of true:

user.UserGroup == Group.Aadministrators

If the user belongs to only the Superwvisors
group, the following code will return a value -
of true:

user.UserGroup It; Group.Administrators

Answer:
Explanation: 1) Yes, because Group is enum with FlagAttribute

2) Yes, because only Administrator = 8 and 8 == 8 is true
3) Yes, becaues only Supervisor =2 and 2 < 8 is true

NEW QUESTION 110

HOTSPOT
You have the following code:
private static Dictionary<string, int>» CreateTestDatal)
L oneary<string, int»> dict = new Dictionery<string, Int>|[)
"Ahccounting™, i},
"Marketing®, Z2F,
"Operatioms™, '3

return dict;

private 2tatic bool? FindinlLizt(string =searchTerm)
icrcionary<string, int> data = CreateTestDatal):
if (data.Contains¥ey(3earchTerm) )

retui: True;

elze

return false;

1
’

To answer, complete each statement according to the information presented in the code.
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If the search term is set to "Finance", the | =
result will be ... L —

false

rue

rull
If the search term is set to "1", the result i =7l
will be .. —

false

true

|

If the search term is set to "Operations”, |_
the result will be ... —-

false
Lighl=]
tl|

Answer:

Explanation: If the search term is set to "Finance", the

result will be .,

If the search term is set to "1", the result
will be ..

If the search term is set to "Operations”,
the result will be ...

NEW QUESTION 113
DRAG DROP

falze
rue
Full

false
frue
il

i

-

false
Irue
[l

You have a method named GetCustomerIDs that returns a list of integers. Each entry in the list represents a customer ID that is retrieved from a list named

Customers. The Customers list contains 1,000 rows.

Another developer creates a method named ValidateCustomer that accepts an integer parameter and returns a Boolean value. ValidateCustomer returns true if

the integer provided references a valid customer. ValidateCustomer can take up to one second to run.
You need to create a method that returns a list of valid customer IDs. The code must execute in the shortest amount of time.

What should you do? (Develop the solution by selecting and ordering the required code snippets. You may not need all of the code snippets.)
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public < » GetValidCustomers|()
alidCustom=rs =—
(from ¢ in customera
Wwhere ValidaceCuscomer (o)
select <) .Tolizt()
recurn validCustomers:
(from ¢ in customerzrs
where ValidateCustomer (c)
select C)  ASPEraliel () .TOlList()
pubiic async < < *» GetWValidlCusto
mers(]
[from ¢ in cuscomers, A=sParallsl [}
where ValidateCustomer (c)
aelect ) .Tolist():
< > validustomers =

Answer:

Explanation: Note:
* ParallelEnumerable.AsParallel Method Enables parallelization of a query.
/ We parallelize the execution of the ValidateCustomer instances.

NEW QUESTION 116
You are creating a class named Game.

The Game class must meet the following requirements: Include a member that represents the score for a Game instance. Allow external code to assign a value to
the score member.

Restrict the range of values that can be assigned to the score member. You need to implement the score member to meet the requirements. In which form should
you implement the score member?

A. protected field

B. public static field

C. public static property
D. public property

Answer: D

Explanation: For a public the type or member can be accessed by any other code in the same assembly or another assembly that references it.
Reference: Access Moadifiers (C# Programming Guide) https://msdn.microsoft.com/en-us/library/ms173121.aspx

NEW QUESTION 117
You have the following code (line numbers are included for reference only):
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Ulclass

021
03 pub lic string barCeoleor { get:; set; )

04 pubklic string bcarName { get: set; )

05 private stactic <L > GetBars({string sglConnecticn3tring)
e {

07 Var oars = new < >():

0g fcoSqglCeonn = new {);

0s using (focSqlConn)
id {
11 | foeSqlCmd = new

("Select sqgiName,sgiColor from Animals", fooSglConn):

| feceSqlConn.Orvent()

3 using focSqglReader = fooSqlCmd.ExecuteReader ()
14 {
15
ig {

17 VAar bar = new {) :

18 par.parlame = | ) TeoSglReader [ "asglName™] ;
189 car.parColor = | yfocSglReader["sglColox"]:
20 cars.hdd{oar):
21 }
22 }
3 }
24 return pars:
28 3}
2¢6)

You need to identify the missing line of code at line 15. Which line of code should you identify?

A. using (fooSqlConn.BeginTransaction())
B. while (fooSglReader.Read())

C. while (fooSqlReader.NextResult())

D. while (fooSglReader.GetBoolean(0))

Answer: B

Explanation: The SglDataReader.Read method advances the SqglDataReader to the next record. Example:
SglCommand command =

new SqglCommand(queryString, connection); connection.Open();

SqglDataReader reader = command.ExecuteReader();

/I Call Read before accessing data. while (reader.Read())

{
ReadSingleRow((IDataRecord)reader);

}

/I Call Close when done reading. reader.Close();

}

Reference: SglDataReader.Read Method ()
https://msdn.microsoft.com/en-us/library/system.data.sqlclient.sqldatareader.read(v=vs.110).aspx

NEW QUESTION 119

HOTSPOT

You are developing an application in C#.

The application will display the temperature and the time at which the temperature was recorded. You have the following method (line numbers are included for
reference only):

01l public wvoid DisplayIemperature (latelimes date, double temp)
o2

03 BLring outpuk;

05 gtring lbhiMeszage = outpit:

08

You need to ensure that the message displayed in the IbIMessage object shows the time formatted according to the following requirements:

The time must be formatted as hour:minute AM/PM, for example 2:00 PM. The date must be formatted as month/day/year, for example 04/21/2013.
The temperature must be formatted to have two decimal places, for example 23-45.

Which code should you insert at line 04? (To answer, select the appropriate options in the answer area.)
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output = string.Format("Temperature at vlon | «|", date, temp) |
{0:t} {0:d} T
{1:t} {1:d} {1}
{o:hh:rim} {0 :dd i Ay - {0:N2}
I1:hhemml £1:mimfdd Ayt 11:M2}
Answer:

Explanation: {0:t}
{0:d}
{1:N2}

NEW QUESTION 120

You are creating a console application named Appl.

Appl retrieves data from the Internet by using JavaScript Object Notation (JSON).

You are developing the following code segment (line numbers are included for reference only):

21 publiic bool Valiidatedson(string json, Dictiomary«<string, objecty result)
02 4

03

04 try

nE

& result = serializer.Degerialize<lictzonsry<string, objectr>>(ison):
07 return true;

) b

a3 catch

11 return fals=se:

[¥1]

You need to ensure that the code validates the JSON string. Which code should you insert at line 03?

A. DataContractSerializer serializer = new DataContractSerializer();
B. var serializer = new DataContractSerializer();

C. XmlSerlalizer serializer = new XmiSerlalizer();

D. var serializer = new JavaScriptSerializer();

Answer: D

Explanation: The JavaScriptSerializer Class Provides serialization and deserialization functionality for AJAXenabled applications.

The JavaScriptSerializer class is used internally by the asynchronous communication layer to serialize and deserialize the data that is passed between the browser
and the Web server. You cannot access that instance of the serializer. However, this class exposes a public API. Therefore, you can use the class when you want

to work with JavaScript Object Notation (JSON) in managed code.

NEW QUESTION 121

You are developing an application that uses several objects. The application includes the following code segment. (Line numbers are included for reference only.)

private bool IsHull (ohject obi)

return false;

L T e O T e Y
[0 Y SO LT L R B

You need to evaluate whether an object is null. Which code segment should you insert at line 03?

A if (obi = nuall)]

B: if [(mull)
return true;

C. 4if (ock3 == oI
recurn truae;

D. if (obj == muail}
return true
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: Use the == operator to compare values and in this case also use the null literal.

NEW QUESTION 125
You are developing an application.

-
T

-
o
o

-

int

=
WalLr

AITayYyl = NeW HIIE
"
]
o

int varl = ]

The application contains the following code segment (line numbers are included for reference only):

= new iat{};

"

04 grrav ]

- - -

05 warZ = arravl0]l:

When you run the code, you receive the following error message: "Cannot implicitly convert type 'object” to 'int'. An explicit conversion exists (are you missing a
cast?)."

You need to ensure that the code can be compiled. Which code should you use to replace line 05?

A. var2 = arrayl[0] is int;

B. var2 = ((List<int>)arrayl) [O];

C. var2 = arrayl[0].Equals(typeof(int));
D. var2 = (int) arrayl [O];

Answer: D

NEW QUESTION 127
You have the following code:

t3Z» Items = new List<i

4

[
k]
]

[
-

[ T T Y A B |
- ow om

L =3 Cooigy

You need to retrieve all of the numbers from the items variable that are greater than 80. Which code should you use?

A,

from i in itemns

var result itemz.Take (20);

TEr resuit items.First (i =» i:¥

¥ar result

]
J
it
14
11}
=
i
(Lsd
|1

1]
L
|
W
[ 5]

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 130

HOTSPOT

You are developing the following classes named: Class1

Class2 Class3

All of the classes will be part of a single assembly named Assembly.dll. Assembly.dll will be used by multiple applications.
All of the classes will implement the following interface, which is also part ofAssembly.dll: public interface Interfacel

{

void Method1(decimal amount); void Method2(decimal amount);

}

You need to ensure that the Method2 method for the Class3 class can be executed only when instances of the class are accessed through the Interfacel interface.
The solution must ensure that calls to the Method1 method can be made either through the interface or through an instance of the class.

Which signature should you use for each method? (To answer, select the appropriate signature for each method in the answer area.)

The Leader of IT Certification visit - https://www.certleader.com



CertLeader-m 100% Valid and Newest Version 70-483 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/70-483-dumps.html (288 Q&As)

Methodl: | ,i

internal void Method1{decimal amount)
private void Method1{decimal amount)
public void Method1{decimal amount)

void Interfacel.Methodl{decimal amaount)

Methodz: | |
]

internal void Method2(decimal amount)
private void Method2{decimal amount)
public void Method2{decimal amount)

vaid Intefacel. Method2 (decimal amount)

Answer:

Explanation: Methodl: |

=]

internal void Method1{decimal amaunt)
private void Method1idecimal amount

-.“.T.:-. . !

Method2: | |

Imternal void Methodz (decimal amount)
privatz void Method2{decimal amount)

NEW QUESTION 133

You are implementing a method named ProcessReports that performs a long-running task. The ProcessReports() method has the following method signature:
public void ProcessReports(List<decimal> values,CancellationTokenSource cts, CancellationToken ct) If the calling code requests cancellation, the method must
perform the following actions:

Cancel the long-running task.

Set the task status to TaskStatus.Canceled.

You need to ensure that the ProcessReports() method performs the required actions. Which code segment should you use in the method body?

A. if (ct.IsCancellationRequested) return;
B. ct.ThrowlfCancellationRequested() ;
C. cts.Cancel();

D. throw new AggregateException();

Answer: B

Explanation: The CancellationToken.ThrowlfCancellationRequested method throws a OperationCanceledException if this token has had cancellation requested.
This method provides functionality equivalent to: C#

if (token.IsCancellationRequested)

throw new OperationCanceledException(token);

Reference: CancellationToken.ThrowlfCancellationRequested Method () https://msdn.microsoft.com/enus/
library/system.threading.cancellationtoken.throwifcancellationrequested(v=vs.110).aspx

NEW QUESTION 134
You are developing an application that includes the following code segment. (Line numbers are included for reference only.)
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01 public class ItemBase

02 4

03

04 public cla=zs Widget @ ItemBase

F

Ja

07 class

Oa

09 void DoWork (object obi)

11 = Writeline ("In DoWorkickhiect) ™) :
iz h

13 void DoWork (Widoget widget)

14

15 = WritelLine("In DoWork (Widget)™);
1E y

17 roid DoWork(Ite = itembase]

19 e . Writeline("In DoWork (ItemBase) ™) ;
20

21 private woid BEunf{)

2E

23 obhiect o = new [].:

g CoWork (o) ;

25

28

You need to ensure that the DoWork(Widget widget) method runs. With which code segment should you replace line 247?

A. DoWork((Widget)o);

B. DoWork(new Widget(0));
C. DoWork(o is Widget);

D. DoWork((ItemBase)o);

Answer: A

NEW QUESTION 139

An application uses X509 certificates for data encryption and decryption. The application stores certificates in the Personal certificates collection of the Current
User store. On each computer, each certificate subject is unique.

The application includes a method named LoadCertificate. The LoadCertificate() method includes the following code. (Line numbers are included for reference
only.)

Srertificatel LoadlCertificate(string =searchValue)

o2

o3 TAr SLOore = New (StorelName .My, Storelocation.CurrentlUser):;
04 store.0pen (Cp Flags.ReadOnly OpenFlags.OpenExistingCnliy) !

05 var certz = store.Certificatez.Find|

26

a7 gearchValue, false):

o9

The LoadCertificate() method must load only certificates for which the subject exactly matches the searchValue parameter value.
You need to ensure that the LoadCertificate() method loads the correct certificates. Which code segment should you insert at line 067

A NoD9FindType.FindBySubjectlane,

B. Nol9Findlype.FindBySubjectEeyidentifier,

. XE08FindType.FindByissuerName,

D. NoO9FindType . FindBySubijectlistinguishedName,

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: X509FindType.FindBySubjectDistiguishedName is a more specific search than that provided by the FindBySubjectName enumeration value. Using
the FindBySubjectDistinguishedName value, the Find method performs a case-insensitive string comparison for the entire distinguished name. Searching by
subject name is a less precise search.

Reference: X509FindType Enumeration https://msdn.microsoft.com/enus/

library/system.security.cryptography.x509certificates.x509findtype(v=vs.110).aspx

NEW QUESTION 144
You are developing a class named Scorecard. The following code implements the Scorecard class. (Line numbers are included for reference only.)
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01 public class Scorecard

D2 4
rivate Dzcrionary<string, intd> players = new
puklic void Add(string name, int score

players.Add (name, s3coxe);

[ TR e TR i TR e Y s T e Y o |
(¥ N I T o TR S

You create the following unit test method to test the Scorecard class implementation:

public void UnitTestl ()

[u]

H ol —— K

WL
e
0 & L0

Homom o0
i
oo

[]
H M
m m
0o n
fu

Jult b [y
B o aOaan
ot o ]
1
1 [
G
ot T
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tQ

L T ™ TR A Y e A
O

r
ecardi®"Playerd®];
eds

You need to ensure that the unit test will pass. What should you do?

A Insert the following code segment at line 08:

public int thisistring nanmej
get

return playversname];

[

B. Insert the following code segment at line 08:

public Dictionary<string, int» Players

return plavers:

C. Replace line 02 with the following code segment:

'ri
=]

D.  Insert the following code segment at line 08:

public int score(string name)

return plavers [name];

b

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: You need to add indexer to the class.

NEW QUESTION 148
You are developing an application that will parse a large amount of text.

You need to parse the text into separate lines and minimize memory use while processing data. Which object type should you use?

A. DataContractSerializer
B. StringBuilder

C. StringReader

D. JsonSerializer

Answer: C

The Leader of IT Certification
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Explanation: There are many ways to separate a string into lines. With StringReader, we read lines from a string individually in the order they appear. This type
enables us to access string data through a streamoriented interface.
Reference: http://www.dotnetperls.com/stringreader

NEW QUESTION 151
You are developing code for an application that retrieves information about Microsoft .NET Framework assemblies.
The following code segment is part of the application (line numbers are included for reference only):

ViewMetadata (ztring filePath)

public wvoid

S B

var bytes = File.ReadAliiBytes (filePath):

[ 3 I L]

e T T e Y o T e Y

=]

You need to insert code at line 04. The code must load the assembly. Once the assembly is loaded, the code must be able to read the assembly metadata, but the
code must be denied access from executing code from the assembly.
Which code segment should you insert at line 04?

A. Assembly.RefilectionOnlyLoadFrom(bytes);
B. Assembly.RefilectionOnlyLoad(bytes);

C. Assembly.Load(bytes);

D. Assembly.LoadFrom(bytes);

Answer: B

Explanation: The Assembly.RefilectionOnlyLoad method (Byte[]) loads the assembly from a common object file format (COFF)-based image containing an
emitted assembly. The assembly is loaded into the refilection-only context of the caller's application domain.

You cannot execute code from an assembly loaded into the refilection-only context. Incorrect:

Not A: The Assembly.RefilectionOnlyLoadFrom method (String) loads an assembly into the refilectiononly context, given its path.

Reference: Assembly.RefilectionOnlyLoad Method (Byte[]) https://msdn.microsoft.com/en-us/library/h55shelh(v=vs.110).aspx

NEW QUESTION 154
You are developing a method named GenerateHash that will create the hash value for a file. The method includes the following code. (Line numbers are included
for reference only.)

publiic bytell GenerateHash(string filename, =2tring hashilgorithm)

P

. ™

= Hashfilgorithm.Create (hashAligorithm) ;

L0 T e T e B o | [ ]
Lal
=
fu
]
[
b =
w]
f
ot
L
4
i
[
|}
[}
|
I

N ks

You need to return the cryptographic hash of the bytes contained in the fileBuffer variable. Which code segment should you insert at line 05?

7 Kk . i et e T T P -
A war cutputBuifer =

- .- 4 I
h, oucputBuffsr,

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The ComputeHash(Byte[]) method computes the hash value for the specified byte array.

NEW QUESTION 157

You are developing an application that will read data from a text file and display the file contents. You need to read data from the file, display it, and correctly
release the file resources.

Which code segment should you use?
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A, string inpuwtline;

using (Streamfesder reader = new StregmBesder ("data.txt"))

while [((inputline = reagder.Beadline(]) !'= null)

B. s=string inputline;

StregmBesder reader = null:;

usging (reader = npew StCreamfeader ("data.txt™)) ;

while ((inputlLine = reader.ReadLine()) != mull)
nzole.WritelLine (inputLine) ;

il
y1]
1
i
1
11}
4
Ll
i o
[ ;l -u
m
I =
]

new StreamBeader ("data.txt™):

reader.Beadline()) != nuil

reader = new reamBesder ("data.txE™) ;2

while | [(inputLine = reagder.BeadLine()) = null)
Consolie . Writeline (inputLine]

:.

regder.Cloze() ;

reader.Dispose|):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: The StreamReader object must be part of the using statement.

NEW QUESTION 162
HOTSPOT
You have the following code:

The Leader of IT Certification
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publiic void Execute (]

SendMezzage{this, new Eventirgs{)):
public class Li =i
ert alert = new exrE{] ;

giert.S5endMessage += ([sender, ) =» { Console.WritelLine ("First™}.:; }:
dlert.SendMeszage += (sender, e) =» { Consocle.WritelLine("Second"): }:
alert.SendMessage += ([(sender, e} =» { Comscle. . WriteLine ("Thizrd™):; }:
alert.SendMessage += ([Zender, e] =¥ { Comnaole.WriteLinme ("Thizd"); }:

Subzcriber subscriber = new Subscriberx|():
subsacriber.

subscrilber.

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
Yes Mo
If there are no subscribers to the
SendMessage event, the Execute

method on the alert class will
throw an exception.

¥When the application runs, "First" s
will always appear befare
"Secaond".

YWhen the application runs, "Third" r
will be displayed once,

Answer:

Explanation: Explanation for second Answer
Events are multicast delegates and that one has a linked list to store the delegates in. The order of execution is always the same as they are inserted.

NEW QUESTION 166

HOTSPOT
You are building a data access layer in an application that contains the following code:
public static Object GetTypelefault (DhType dbDataType)

switch (dkbDataTvpe)

case

atirrn

LWLl

cage

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
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res Mo

If dbDataType is DateTime, today's '
date is returned.

If dbDatatype is Inta4, Mull is ~
returned.

If dbDatatype is Double, O is ~
returned.

Answer:
Explanation:

If dbDataType 1= DateTime, today's
date is returned.

If dbDatatype is Intad, Mull is
returned.

If dbDatatype s Double, O s

returned,
NEW QUESTION 170
HOTSPOT
You have the following code:
public cless -
private int Customerld { gec; sec;
pukblic string Companyilame { gec: serg;
procected =tring State { get; =
public string City i get: aet;
puklic Cuscomer(int cuscomerid, string
Cuztomerld = customerlid;
Companyiame = companyiiame;
State = BTLATUE;
City = citys
public Customer()
public interface 3
string GetCustomer2yIdi{int customerld
gtring GertCustomerBylate (DateTime daceFrom,
public class 5 i
public =tring Z2ip { get:; =set: }
public string Phone { get; =zet;
erByidiint customerid]

public string GetCustom

pukblic string GecCustomerSylace (I

For each of the following statements, select Yes if the statement is true. Otherwise, select No.

All of the objects derived from MyCustomerClass
have CustomerlD as a property,

All.of the objects derived from MyCustomerClass
have CompanyMame as a property.

All of the objects derived from MyCustomerClass
have State as a property.

Answer:

Explanation: Note:

The Leader of IT Certification
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* CustomerlD is declared private.
* CompanyName is declted protected.
* State is declared protected.

The protected keyword is a member access modifier. A protected member is accessible from within the class in which it is declared, and from within any class

derived from the class that declared this member.

NEW QUESTION 171
HOTSPOT
You have the following code (line numbers are included for reference only):

jaTaTable;

2 BEring SSANSTELRDg = "Deta Sourge=192. 183.1.11 -nitzal Carploge=tarabas=l:Use
03 umang | 3gilonm = neaw ConnEtring

05 % &fn. Open

& EIL0G 8 Iallc = NW |

g 891 7nd. Connecticn = =gllcon

E &1 0nd. CopmandType = ItaradFracedutrs

10 sglomd. CommandZext = I fare

it =1y : ECADTEr = [ 2 lCmd

13 usiag (dazaTakb’e ns {

ia adaptac dztelecle

To answer, complete each statement according to the information presented in the code.

The database connection gets closed at line... | _:i

15
16
17
18
19

The adapter object gets disposed at line., | =

15
16
17
18
19

Answer:

Explanation: _ . -
The database connection gets closed at line... | %)

15
16
17
15

The adapter object gets disposed at line.. | =l
15
16

o

19

NEW QUESTION 172

You need to create a method that can be called by using a varying number of parameters. What should you use?

A. Method overloading
B. Interface

C. Named parameters
D. Lambda expressions

Answer: A

Explanation: Member overloading means creating two or more members on the same type that differ only in the number or type of parameters but have the same

name.
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Overloading is one of the most important techniques for improving usability, productivity, and readability of reusable libraries. Overloading on the number of
parameters makes it possible to provide simpler versions of constructors and methods. Overloading on the parameter type makes it possible to use the same
member name for members performing identical operations on a selected set of different types.

NEW QUESTION 177

You need to store the values in a collection.

The solution must meet the following requirements:

The values must be stored in the order that they were added to the collection. The values must be accessed in a first-in, first-out order.
Which type of collection should you use?

A. SortedList
B. Queue

C. ArrayList
D. Hashtable

Answer: B

Explanation: The Queue class implements a queue as a circular array. Objects stored in a Queue are inserted at one end and removed from the other.

Queues and stacks are useful when you need temporary storage for information; that is, when you might want to discard an element after retrieving its value. Use
Queue if you need to access the information in the same order that it is stored in the collection.

Reference: https://msdn.microsoft.com/en-us/library/system.collections.queue(v=vs.110).aspx

NEW QUESTION 182
You have an application that will send confidential information to a Web server. You need to ensure that the data is encrypted when it is sent across the network.
Which class should you use?

A. CryptoStream

B. AuthenticatedStream
C. PipeStream

D. NegotiateStream

Answer: A

Explanation: The CryptoStream Class defines a stream that links data streams to cryptographic transformations. The common language runtime uses a stream-
oriented design for cryptography. The core of this design is CryptoStream.

Reference: CryptoStream Class https://msdn.microsoft.com/enQuestions

& Answers PDF P-137 us/library/system.security.cryptography.cryptostream(v=vs.110).aspx

NEW QUESTION 187
You are developing a class named EmployeeRoster. The following code implements the EmployeeRoster class. (Line numbers are included for reference only.)

01 publiic ciass

02

03 private Dic ary¥string, int» employees = new 3! <gtring, int>():
0 public void &dd(string name, int saiary)

oE emplioyees.add(name, =alary

o7 }

08

09

You create the following unit test method to test the EmployeeRoster class implementation:

public void UnitTesti ()
EmployeeRoster employeeioster = new EmployeeRoster ()
enployeeRoster.Add("David Jom=s", 50000):;
enployeeRBoster . Add ("Phyliizs Harris", T75000):
int expectedSalary = 75000
int actuwalBalary = employecRozter{"Phyliiizs Harrizni:;
AreEoqual (expectedSalary, actualSalary):

You need to ensure that the unit test will pass. What should you do?
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A. Insert the following code segment at line 08:

public Dictionary<string, int>» Employees

B. Insert the following code segment at line 08:

public int this{string name]

H
m
I,-f
o
H
[u]
m

mployvessname’l ;

C.  Replace line 03 with the following code segment:

public Dictionsry<string, int> Employvees = new [Dictionsry<string, int>[];

0. Insert the following code segment at line 08:
public int salary(string name}

return employees[namej;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 188
You are modifying an existing banking application.
The application includes an Account class and a Customer class. The following code segment defines the classes.

class Account

pubklic Account (decimal kalance, int term, decimal ratce)

pubiic decimai Jalance
public decimal Rate { g
pubiic int Term ge

=
Erl 1 2dlk L

ciass Cuscomer

public Customer (S2tring IrrstHame, string LasthName, < T¥» accounts)
Firacliame = firaclame;
Lastlame = lastName
Accountlollestion = acCoOUnLTE;

pubiic string FirscHame get; Bet h

publiic string LastiName get: set

public : <) t>» Accountlollection { get; set:

You populate a collection named customerCollection with Customer and Account objects by using the following code segment:

Collection<Customer®> customerCollection = new Collection<Customer>();

~ollectionchocounty> customerAccounts = new Collectiomn<hocount>|():
customerficcount s, add (new Account (LO00m, 2, O0.025m)) !
customerdccounts.Add (new Lccount (3000m, 4, ©.04L5m}):
customerkocounts.Add (new Zccount (5000m, &, O.04&5m)):
customerCollection.fdd (new Customer ("David", "Jooes", customericcounts));

You create a largeCustomerAccounts collection to store the Account objects by using the following code segment:
Collection<Account> largeCustomerAccounts = new Collection<Account> ();
All accounts with a Balance value greater than or equal to 1,000,000 must be tracked. You need to populate the largeCustomerAccounts collection with Account

objects. Which code segment should you use?
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A foreach (Customer customer in customerCollection)
foreach (Account -account in customer.AccountCollection)
if (account.Balance >= 1000000m)

customer.AccountColliection.kdd (account) ;

-

B. foreach (Rccount customer In customerCollection]
foreach (Account account in largeCustomerAccounts)
if (account.Balance »= 1000000m)

iargeCustomerfAccounts.Add{account)

5 foreach (Cuztomer customer in customerColliection]
foreach (Account account in customer.AccountCollection)

if (account.Balance »= 1000000mm)

iargeCustomerfAccounts.Add{account) ;

0. foreach (Rcocount account in largeCustomericcounts)
foreach (Cu=ztomer customer in customerColliection)
if (accoumnt.Balance »= i000000m)

customer.AccountCollection.Add(account) ;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 190

HOTSPOT

You define a class by using the following code:
publiic claas Department

public int Id { get; set: }
public string WHame { get; set: }
public =ztring Manager { get; 3et; }
public int BuildingId { get:; set; }
You create a collection by using the following code:

Derpartment{] departments =

new Departmen
i Id = 1, Hame = "Accounting”, Manager = "Userl", Buildingid = 15 };
:}E‘ﬂr __F__ = oy
;i Id = 2, Hame = "S5ales"™, Manager = "Userd2", Buildingld = 3 },
new Department
{ Id = 3, Hame = "IT", Manager = "Uzerd” , Duildingid = 153},
new Derparcment
{ Id = 4, Hame = "Marketing®, Manager = "User4", BuildinglId = 3}
1 .
]

Tar output
from d in departments
group d by d.BuildingId into dp
gelect new 1 =sorted = dp.Eey, Department = dp !}

To answer, complete each statement according to the information presented in the code.
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The output collection will contain ... | 1
object{s). —
0
1
2
3
g
The sorted property of the output | -
collection will be the ... type. B
it
string
war

Answer:

Explanation: 1, output collection will contain ... | ;

object{s]. —

1

The sorted property of the output
collection will be the ... type. T

int
S1ring
War

NEW QUESTION 191

You need to write a method that retrieves data from a Microsoft Access 2013 database. The method must meet the following requirements:
Be read-only.

Be able to use the data before the entire data set is retrieved.

Minimize the amount of system overhead and the amount of memory usage. Which type of object should you use in the method?

A. DbDataReader
B. DataContext

C. unTyped DataSet
D. DbDataAdapter

Answer: A
Explanation: DbDataReader Class
Reads a forward-only stream of rows from a data source.

Reference: DbDataReader Class
https://msdn.microsoft.com/en-us/library/system.data.common.dbdatareader(v=vs.110).aspx

NEW QUESTION 196
You have the following code (line numbers are included for reference only):
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01 public class IT

02

3 private static System.Diagnostics. 5 _execTimer =
{4 new System.Diagnostics.sS ¥ £)

05 putlic static void Delayi{int delay

D6 i

07 = Sleep(delay)

08 ¥

08 rublic static volid LoglongExec{string msg)

10 i

12 throw new EX oL {

i string.Format {"Ex2cuticn is too long > {0} > 11",
i< medg, execTimer.Elapsed.TotalMillisseconds) ) ;
is 3

16 public static volid Main{i)

17 {

18 _execTimer.S5TarT ()

1 Ty

20 {

21 Delayi{li});

22 LogloengExec ("Delay (10) ")

23 Delay {5000) ;

24 LoglongExec ("Delay (S000) "

25 3

26 catch (Exception =x)

27 I

28

28

34 }

31 1}

You need to ensure that if an exception occurs, the exception will be logged. Which code should you insert at line 28?

A #if ERROR
Systemn.Diagnostics.Trace,.Tracefrror (ex.Meszage, "ZpplicationLog®):
#fendif
B, System.Diagnostice.XmlilWriterTracelistensr listener =
new L ¥ = qCe St ETE |:'| JError _jgnl:l’

liatener.Flush():
listener.Ciose();

. using (System.Diagnostice.XnliWricerT L Togl =
new ZmiWricterTracelistensr (M.
tCache (), ex.Mes=zage; TraceEventlype.Error, ex.HEesult}:;
0. = trace = mew TraceSource("./Trace.log")
tType.Error, ex.HBRezult, ex.Mez=zage):;

A. Option A

B. Option B

C. Option C

D. Option D

Answer: C

Explanation: * XmlWriterTraceListener

Directs tracing or debugging output as XML-encoded data to a TextWriter or to a Stream, such as a FileStream.

* TraceListener.TraceEvent Method (TraceEventCache, String, TraceEventType, Int32) Writes trace and event information to the listener specific output.
Syntax: [ComVisibleAttribute(false)] public virtual void TraceEvent( TraceEventCache eventCache, string source, TraceEventType eventType, int id

)

NEW QUESTION 198

You are creating a console application named Appl.

Appl retrieves data from the Internet by using JavaScript Object Notation (JSON).

You are developing the following code segment (line numbers are included for reference only):
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21 publiic bool Valiidatedson(string json, Dictiomary«<string, objecty result)
02 4

03

04 Lry

nE f

& result = serializer.Degerialize<lictzonsry<string, objectr>>(ison):
07 return true;

) b

a3 catch

1 return fals=se:

You need to ensure that the code validates the JSON string. Which code should you insert at line 03?

A DataContractSerializer serializer = pew DatalontractBerializer|().:

B. var serializer = new HetDataContractSerializer():;

G HetDataContractSerializer serialirzer = new NetDataContractSerializer().;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The JavaScriptSerializer Class Provides serialization and deserialization functionality for AJAXenabled applications.

The JavaScriptSerializer class is used internally by the asynchronous communication layer to serialize and deserialize the data that is passed between the browser
and the Web server. You cannot access that instance of the serializer. However, this class exposes a public API. Therefore, you can use the class when you want

to work with JavaScript Object Notation (JSON) in managed code.

Incorrect:

Not B, not C: The NetDataContractSerializer works with XML, but not with JSON.
Reference: JavaScriptSerializer Class https://msdn.microsoft.com/enus/
library/system.web.script.serialization.javascriptserializer(v=vs.110).aspx

NEW QUESTION 201

You are evaluating a method that calculates loan interest- The application includes the following code segment. (Line numbers are included for reference only.)

21 private static decimal Calculateinterest{decimal IopanAmount, 1nt IoanTerm]
02 {

o3 decimal interesthmount;

G4 decimal IopanRate;

05 if (lLoanTerm > O 5& lognTerm < 5 5& loanfmount < S000m)
O&

o7 Ipanfate = 0.045m;

g

o5 glze if (IopanTerm > 5 && loanimoant > 5000m)

11 IpanFate = 0.085m;

1z b

13 elge

14 i

15 loanPate = 0.055m;

16

17 interestimount = loanimount * IoanRate * IoanTerm;

13 return interestimount;

19 }

When the loanTerm value is 3 and the loanAmount value is 9750, the loanRate must be set to 8.25 percent.
You need to adjust the loanRate value to meet the requirements. What should you do?

A. Replace line 04 with the following code segment: decimal loanRate = 0.0325m;

B. Replace line 17 with the following code segment: interestAmount = loanAmount * 0.0825m * loanTerm;
C. Replace line 15 with the following code segment: loanRate = 0.0825m;

D. Replace line 07 with the following code segment: loanRate = 0.0825m;

Answer: C

NEW QUESTION 203

You are implementing a new method named ProcessData. The ProcessData() method calls a thirdparty component that performs a long-running operation.

The third-party component uses the IAsyncResult pattern to signal completion of the long-running operation.
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You need to ensure that the calling code handles the long-running operation as a System.Threading.Tasks.Task object.
Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A. Call the component by using the TaskFactory.FromAsync() method.

B. Create a TaskCompletionSource<T> object.

C. Apply the async modifier to the method signature.

D. Apply the following attribute to the method signature: [Methodimpl(MethodImplOptions.Synchronized)]

Answer: AB

Explanation: A: TaskFactory.FromAsync Method

Creates a Task that represents a pair of begin and end methods that conform to the Asynchronous Programming Model pattern. Overloaded.

Example:

TaskFactory.FromAsync Method (IAsyncResult, Action<IAsyncResult>)

Creates a Task that executes an end method action when a specified IAsyncResult completes.

B: In many scenarios, it is useful to enable a Task<TResult> to represent an external asynchronous operation. TaskCompletionSource<TResult> is provided for
this purpose. It enables the creation of a task that can be handed out to consumers, and those consumers can use the members of the task as they would any
other. However, unlike most tasks, the state of a task created by a TaskCompletionSource is controlled explicitly by the methods on TaskCompletionSource. This
enables the completion of the external asynchronous operation to be propagated to the underlying Task. The separation also ensures that consumers are not able
to transition the state without access to the corresponding TaskCompletionSource.

Note:

* System.Threading.Tasks.Task Represents an asynchronous operation.

NEW QUESTION 206
You are developing an application for a bank. The application includes a method named ProcessLoan that processes loan applications. The ProcessLoan()
method uses a method named Calculatelnterest. The application includes the following code:

tatic decimal CalculateInterest{decimal smount, decimal rate, int term)

=
fi

=

return amount ¥ rate term;

[—

tatic decimal Processloan{)

= LA

CalculateloanInterest loanInterestProcessor = Calculatelnterest;

return loanInterestProcesscr(4588m, G.865m, 433
1.

You need to declare a delegate to support the ProcessLoan() method. Which code segment should you use?

i 1a ™ 3 3 1 -~ 5 T - P S ———— ad i L . — - & - . *
A pubiic deiegate decimal (decimas. LOADAEKOUNTL, dECimAL JDAnrateE, i1OE Tem) =

] pubilic delagate decimal

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 207
You are modifying an application that processes loans. The following code defines the Loan class. (Line numbers are included for reference only.)
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private int term;

o private const int MaximunTerm = 10;
] private const decimal Bate = 0.034m;
o7 public int Term
ma ¥
oS get
11 return term;

12 }
13 zet
14 i
1s if (value <= MaximumTerm)
1a
17 term = wvalue;
8 glze

| T L T o T T OO T o I B
ok L B

& public delegate void MaximpumTermReachedHandler (object source,

+

Loans are restricted to a maximum term of 10 years. The application must send a notification message if a loan request exceeds 10 years.

You need to implement the notification mechanism.

Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A Insert the following code segment at line 03:

publiic string MaximamTermBeachedEvent { get: setr;

B. Insert the following code segment at line 21:

if (CoMaxirumTermBeached '= null)
CoMaximemTermBeached (this, new EventiArgz());
C. Insert the following code segment at line 03:

private string MaximumTermReachedEvent:

D, Insert the following code segment at line 03:

public event MaximumTermBReachedHs

E.  Insert the following code segment at line 21:

value = MazimumTerm:

F.  Insert the following code segment at line 21:

valus = 9;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: BD

NEW QUESTION 211

CoMaxipumTermBEeached;

An application contains code that measures reaction times. The code runs the timer on a thread separate from the user interface. The application includes the

following code. (Line numbers are included for reference only.)
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01 =tatic int BunTimer{CanceiiacionToken cancelliationToken]

02

03 var Lime = 0

04 while (!cancelliationToken.IzalCancelliagtionBeguested)

0% time++:

26 return time;

a7

08 =ztatic void HMain(sctring{} args)

08 {

10 rar tokenSource = new cellatino nkenSouzrce () ;

11 var task = Tt Factory.StartNew<int>( () => RunTimer (tokenSource.Token));
12 nie.WriteLine("Press [Enter] to stop the timer."):

13 O = BeadLine ()

15 ie. WriteLine{"Timer stopped at {0}", task.Gethwaiter{) .GetResult{) )’
Is yle ReadLine () ]

-1

You need to ensure that the application cancels the timer when the user presses the Enter key. Which code segment should you insert at line 14?

A. tokenSource.Token.Register( () => tokenSource.Cancel() );
B. tokenSource.Cancel();

C. tokenSource.lsCancellationRequested = true;

D. tokenSource.Dispose();

Answer: B

Explanation: The CancellationTokenSource.Cancel method communicates a request for cancellation, and specifies whether remaining callbacks and cancelable
operations should be processed.

Incorrect:

Not C: The IsCancellationRequested property is ReadOnly. Reference: CancellationTokenSource.Cancel Method (Boolean) https://msdn.microsoft.com/en-
us/library/dd321703(v=vs.110).aspx

NEW QUESTION 214
You are developing an application that will process personnel records. The application must encrypt highly sensitive data.
You need to ensure that the application uses the strongest available encryption. Which class should you use?

A. System.Security.Cryptography.DES
B. System.Security.Cryptography.Aes
C. System.Security.Cryptography.TripleDES
D. System.Security.Cryptography.RC2

Answer: B

Explanation: Advanced Encryption Standard (AES) has been adopted by the U.S. government and is now used worldwide. It supersedes the Data Encryption
Standard (DES). AES key sizes are 128, 192 or 256 bits.

Incorrect:

DES, 3DES, and RC2 are all less secure.

Reference: https://en.wikipedia.org/wiki/Advanced_Encryption_Standard

NEW QUESTION 218
You are developing an application that uses a .config file. The relevant portion of the .config file is shown as follows:
<=syatem.diagnostica>
«trace agtoflusgh="felse" indentsize="0">
<liztenera>
<add mame="appListensr”n
type="System.Diagnostices.EventLoglraceListenaer™®

initializellata="TracelListenerLog" />

</traceX

</zyatem.diagnosticsr

You need to ensure that diagnostic data for the application writes to the event log by using the configuration specified in the .config file.
What should you include in the application code?

A Debug.WriteLine ("Trace data...");
B SetOut (new Stre: I ("System.Diagnostics.EZventlogiracelistener™) ) ;
= . WritebLine ("ITrace data Lt
E z WriteLine ["Trace data By
0. t log = new i
log.WriteEntry({"Irace data b
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: The Trace.Writeline statements will be included in the Release compilation by default. Incorrect:
Not A: Debug.Writeline() statements will not be included in the Release compilation by default.

NEW QUESTION 221

DRAG DROP

You create an assembly named Assembly1.dll.

You need to ensure that Assembly1.dll can be deployed to the global assembly cache (GAC). Which commands should you run? (To answer, drag the appropriate
programs to the correct locations. Each program may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to
view content.)

al.exe
Program -k assemblykey.snk
gacutil.exe
; Program Jout:dzsemblyl.dll fkeyfile assemblykey. snk
ildasm.exe

resgen.exe

sn.exe

Answer:

Explanation: The al.exe command has the /out and /keyfile options. Incorrect:
gacutil.exe command does not have the /out and /keyfile options.
Reference: https://msdn.microsoft.com/en-us/library/ex0ss12c(v=vs.110).aspx

NEW QUESTION 225

DRAG DROP

You have an application that uses paging. Each page displays 10 items from a list.

You need to display the third page. (Develop the solution by selecting and ordering the required code snippets. You may not need all of the code snippets.)

- P L
LEBrip ()

VAT page

= lCEms

Answer:

Explanation: Skip the first two page (first 20 items) then select the next page (next 10 items),
* Use the Take operator to return a given number of elements in a sequence and then skip over the remainder.
Use the Skip operator to skip over a given number of elements in a sequence and then return the remainder.

NEW QUESTION 226

You have an application that accesses a Web server named Serverl.

You need to download an image named Imagel.jpg from Serverl and store the image locally as Filel.jpg.
Which code should you use?
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A request = Create (“hoep://aecrverli/imagel.3ng™)
: WELLARY = ney Y (reguest,GatResponse () . GetlesponsaScream() ) 2
WELITA&X ,WEiTelline ("C Lalel.Ipgh)
writer.Dispose ()
B client = new {]:
Writer = ney ("Cr\\Tilm), g™y ;
writer Wrice(clienc.DownloadDaca("htop:// /servearl/imagel., dpg)):
writer.Dispozel):
client.Dzispose();
C 3 clienrt = new () ;
gclient.ownicagtile("Rocpr//eeryer]isimagel Apgh, L rilel. 3pg™);
client.Dispoze();
[ HepReguast request = HuopWebRe rst.Lreate ("htop serverl/imagel.jpg™)
= Writer = new 3T - rer (request.,GecReaponse () .GecReaponseStream(]) |
writer Wrice (MO filel . 4ng™) 2
Wwriter.Disposa();

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 229

You are developing a C# application. The application references and calls a RESTful web service named EmployeeService. The EmployeeService web service
includes a method named GetEmployee, which accepts an employee ID as a parameter. The web service returns the following JSON data from the method.

{"1d":1,"Name":"David Jones">
The following code segment invokes the service and stores the result:

clienc = pay ()2
o . 5 SRR g = ; - iy ] e P e e T 18
pytai! employveslace = giienc.lownloadDace("noop:/ localnoacises/EmployeesService, ave/Gerimplovesasl

A using | SETaam = pay K L jempgicyeslacal |
XE1S PEERE = Eay tyvpeaafl (EEslavas
rerriavegisnisyes = gelSeriaglizar Deasvrials e (ST pasm] AR
B assng STEEaT = pay H femplayesliaca))
dacaConcracESeasialitizar = nay E r {eypest (Ezployes] |
racriavadfenlsyas = daralfoncraceSerialzzar  Baadlhrest (STreaam) a8
5 LELOQ STE®S - = (e ayeETIAES] )
Hara AEFACTJaOnSeariglisar = FEy T i FiTyEearlf |Ipplayas
ragriapefEnaloayes = dAaralontracsedsonSerializery, HepadChyact [AEZaAm] A8
o uaimg BTE&ZE = T&S T iEmpLOYyEETATE] |
I wElacalfoncrActSarializer = - 1
FALTI&YAEREpl oSS = SCCACACORTTACESEriAlt Fay HaadOkjast [AEr&am] AN

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 231

You are developing an assembly.

You plan to sign the assembly when the assembly is developed. You need to reserve space in the assembly for the signature.
What should you do?

A. Run the Assembly Linker tool from the Windows Software Development Kit (Windows SDK).
B. Run the Strong Name tool from the Windows Software Development Kit (Windows SDK).

C. Add the AssemblySignatureKeyAttribute attribute the assembly.

D. Add the AssemblyDelaySignAttribute attribute to the assembly.
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Answer: D

Explanation: The AssemblyDelaySignAttribute class specifies that the assembly is not fully signed when created. Reference: https://msdn.microsoft.com/enus/
library/system.refilection.assemblydelaysignattribute(v=vs.110).aspx

NEW QUESTION 234
You are troubleshooting an application that uses a class named FullName. The class is decorated with the DataContractAttribute attribute. The application includes
the following code. (Line numbers are included for reference only.)

-

03 class Program

k]
(a8 ]

lemorvEcreamn WritelMame (HMame name)

i

03

a5 var ms = new MemoryScream|(]) :

O& var binary = smiliccionar riter.CreatefinaryWriter (ma) ;
07 var zexr = new DatalContractSeriglizer (typeof (Fulllame)):;
08 ger . WriteObject (binary, name):;

i)

You need to ensure that the entire FullName object is serialized to the memory stream object. Which code segment should you insert at line 09?

A. binary.WriteEndElement();
B. binary.NriteEndDocument();
C. ms.Close() ;

D. binary.Flush();

Answer: D

Explanation: Example:

MemoryStream stream2 = new MemoryStream();

XmiDictionaryWriter binaryDictionaryWriter = XmlIDictionaryWriter.CreateBinaryWriter(stream?2); serializer.WriteObject(binaryDictionaryWriter, recordl);
binaryDictionaryWriter.Flush(); Incorrect:

Not A: throws InvalidOperationException.

Reference: https://msdn.microsoft.com/en-us/library/ms752244(v=vs.110).aspx

NEW QUESTION 237
You are developing an application that uses several objects. The application includes the following code segment. (Line numbers are included for reference only.)

private bool IsHull (ohject obi)

[ T T T e T

[0 Y SO LT L R B

You need to evaluate whether an object is null. Which code segment should you insert at line 03?

oy

A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

Explanation: Use the == operator to compare values and in this case also use the null literal.
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NEW QUESTION 238

HOTSPOT

You have an existing order processing system that accepts .xml files,

The following code shows an example of a properly formatted order in XML:

P N B R I

{
publiic 312 Orderill get: =3et;
iDataMember (Name = "Customer™) ]
public String CustomerMName { get; set;
{DataMember () ]
rivate Int3: CustomerID { get: set.:
public DateTime OrderDate {4 get; 3get;

For each of the following properties, select Yes if the property is serialized according to the defined schema. Otherwise, select No.

Yes Mo

OrderlD

OrderDate

Customerkame

Answer:

Explanation: Orderld — NO (this will serialize as an element, not as aa attribute)
OrderDate — NO (doesn't have DataMember attribute, thus is completely ignored) CustomerName — YES (DataMember is set correctly)

NEW QUESTION 241

You are developing an application that includes methods named ConvertAmount and TransferFunds. You need to ensure that the precision and range of the value
in the amount variable is not lost when the TransferFunds() method is called.

Which code segment should you use?
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Convertimount (filoat amownt)
TransferFund=z (amount) ;

private static void TransferFunds{int funds)

B. private static void ConvertZmount (float amount)
TransferFunds | (int) funds=) ;

private static void TransferFundz({fioat funds)

. private static void ConvertAmount (float amount)
TranzferFunds (amount) ;

private static void TransferFunds{float funds)

D. private =tatic void ConvertAmount (float amount)

TransferFunds (Doubie.Farse (amount) | -
private static void TransferFunds (double funds)
e.WritelLine (funds):
A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: Simply use float for the TransferFunds parameter. Note:
* The float keyword signifies a simple type that stores 32-bit floating-point values.
* The double keyword signifies a simple type that stores 64-bit floating-point values

NEW QUESTION 246
DRAG DROP

You are adding a method to an existing application. The method uses an integer named statusCode as an input parameter and returns the status code as a string.

The method must meet the following requirements: Return "Error" if the statusCode is O.
Return "Success" if the statusCode is 1.

Return "Unauthorized" if the statusCode is any value other than 0 or |. You need to implement the method to meet the requirements.
How should you complete the relevant code? (To answer, drag the appropriate statements to the correct locations in the answer area. Each statement may be

used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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defaunlt

switch

break

ca3se

H

Answer:

Explanation: Example:

ot

atatusText

e

H
b
LY
[§ ]
A1)
1
4

1]

int caseSwitch = 1; switch (caseSwitch)

{

case 1:

Console.WriteLine("Case 1"); break;

case 2:

Console.WriteLine("Case 2"); break;

default: Console.WriteLine("Default case"); break;

}

Reference: switch (C# Reference) https://msdn.microsoft.com/en-us/library/06tc147t.aspx

NEW QUESTION 251

You are developing an application that includes the following code segment:

interface

void Cpen{);

You need to implement the Open() method of each interface in a derived class named UseResources and call the Open() method of each interface.

Which two code segments should you use? (Each correct answer presents part of the solution. Choose two.)
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A clagss UseHesources : IFile, IDL
roid I Lpen ()
roid I C LOpen()
B VAI TEN&gEer = new = [}
manager.Openi() ;

C. wvar manager = new |
(([IF:z1e)manager) .Open
( [IDbConnection}

public void IDhConpnectiono.Open/|()

E. war manag
manager .l
manager.O

m m H
i
— =l

]
p—
LT

F: Tar manager = new DzsHes rces |[]:
L LIF1)e; D onnect s jmansger) .Openi)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: AC

Explanation: * An interface contains only the signatures of methods, properties, events or indexers. A class or struct that implements the interface must implement
the members of the interface that are specified in the interface definition.

* Example:

interface 1Samplelnterface

f/oid SampleMethod();

i:lass ImplementationClass : ISamplelnterface

;{/ Explicit interface member implementation: void ISamplelnterface.SampleMethod()
5/ Method implementation.

}static void Main()

{

[/l Declare an interface instance.

ISamplelnterface obj = new ImplementationClass();
/I Call the member. obj.SampleMethod();

}

}

NEW QUESTION 254

You are implementing a method named ProcessData that performs a long-running task. The ProcessData() method has the following method signature:
public void ProcessData(List<decimal> values, CancellationTokenSource source, CancellationToken token)

If the calling code requests cancellation, the method must perform the following actions: Cancel the long-running task.

Set the task status to TaskStatus.Canceled.

You need to ensure that the ProcessData() method performs the required actions. Which code segment should you use in the method body?

A. if (token.IsCancellationRequested) return;
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B. throw new AggregateException();

C. token.ThrowlfCancellationRequested();

D. source.Cancel();

Answer: C

Explanation: The CancellationToken.ThrowlfCancellationRequested method throws a OperationCanceledException if this token has had cancellation requested.
This method provides functionality equivalent to: C#

if (token.lsCancellationRequested)

throw new OperationCanceledException(token);
Reference: CancellationToken.ThrowlfCancellationRequested Method ()

https://msdn.microsoft.com/enus/ library/system.threading.cancellationtoken.throwifcancellationrequested(v=vs.110).aspx

NEW QUESTION 259
HOTSPOT

You have the following code (line numbers are included for reference only):

&

01 using (Stre=smWrlitser wWriter = new StrasmWric=sr (B"C:\consol=.txt"))

0 {

g3 —onsale.SecOut (wricer)

od using (Fil=Scresm sStream = new Fil=Scresm(@"C:\file.toxt"™,

05 {

ol using ¢ =zder reader = new StreamReadsr (stream})

a7 i

08 while [(!resder.EndCfStcreasm) nacls . Writeline {resder.Readline{} ) ;
g i

LS
[
i

L]
[
(]

To answer, complete each statement according to the information presented in the code.

If File.txt does NOT exist in the root of | T
Ci,ouowill be throwr,

The final output of the streaming

operation w

Answer:

Explanation:

The final output of the streaming
operation will be ...

NEW QUESTION 261

il be ...

You are developing an application in C#.

The application uses exception handling on a method that is used to execute mathematical calculations by using integer numbers.
You write the following catch blocks for the method (line numbers are included for reference only):

L O T T e T o T
(0 Y O S T o T

o
9]
[aT]
ot
9]
¥
1
I
L]

o

-

Argurmentiul Exception
FileLoadException
FileMotFoundException
PipeException

a console window,

thie Corsole, bt file,

the file t:t file,

the Yisual Studio Debug console.

If File.txt does NOT exist in the root of || —
CyoLLL will be thrown,

argumentulIException

the Cornsole, bt file,

e file. it file.

the Yisual Studio Debug consale,

You need to add the following code to the method:
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catch (DivideByZeraEzception &) {Congole. WritelLizne ("Divide

At which line should you insert the code?

Answer: A

Explanation: Use the most specific exception first.

NEW QUESTION 265

You are developing an application that uses multiple asynchronous tasks to optimize performance. The application will be deployed in a distributed environment.
You need to retrieve the result of an asynchronous task that retrieves data from a web service. The data will later be parsed by a separate task.

Which code segment should you use?

& protected ssyvno void StartTask()

3trim

[l]

result = await Getlatal):

Trask=<string>» GetData ()

public

B. protected azync void StartTask ()

String resuwult = await GetData():

peblic async Task<string» Getlata ()

2] protected aaync void StarcTask()

string result = GetDatal):

public Task<string> GetData ()

0. protected async void StartTask()

Ztring result = async GetDatalil:

public await Tazk<atring> GetDatal)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation: Example:

/I Signature specifies Task<TResult>

async Task<int> TaskOfTResult_MethodAsync()

{

int hours;

...

/I Return statement specifies an integer result. return hours;
}

/l Calls to TaskOfTResult_MethodAsync

Task<int> returnedTaskTResult = TaskOfTResult_MethodAsync(); int intResult = await returnedTaskTResult;
/I or, in a single statement

int intResult = await TaskOfTResult_MethodAsync();

/I Signature specifies Task

async Task Task_MethodAsync()

{
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...

/I The method has no return statement.

}

/I Calls to Task_MethodAsync

Task returnedTask = Task_MethodAsync(); await returnedTask;

/I or, in a single statement await Task_MethodAsync();

Reference: Asynchronous Programming with Async and Await (C# and Visual Basic) https://msdn.microsoft.com/en-us/library/hh191443.aspx

NEW QUESTION 268
DRAG DROP

You are developing an application that will write data to a file. The application includes the following code segment. (Line numbers are included for reference only.)
* Missing code *

You need to ensure that the WriteData() method will write data to a file.

Which four code segments should you insert in sequence at line 03? (To answer, move the appropriate code segments from the list of code segments to the
answer area and arrange them in the correct order.)

(=L

W n I (EileMama) ;:

Answer:

Explanation: Note:

* StreamWriter Constructor (String)

Initializes a new instance of the StreamWriter class for the specified file by using the default encoding and buffer size.
Incorrect:

The StreamWriter class has no method Open.

NEW QUESTION 271

You are creating an application that reads from a database.

You need to use different databases during the development phase and the testing phase by using conditional compilation techniques.
What should you do?

A. Configure the Define TRACE constant setting in Microsoft Visual Studio.
B. Decorate the code by using the [DebuggerDisplay("Mydebug™)] attribute.
C. Configure the Define DEBUG constant setting in Microsoft Visual Studio.
D. Disable the strong-name bypass feature of Microsoft .NET Framework in the registry.

Answer: C

Explanation: Use one debug version to connect to the development database, and a standard version to connect to the live database.

NEW QUESTION 276

You are creating a class named Loan.

The Loan class must meet the following requirements: Include a member that represents the rate for a Loan instance. Allow external code to assign a value to the
rate member.

Restrict the range of values that can be assigned to the rate member.

You need to implement the rate member to meet the requirements. In which form should you implement the rate member?

A. public static property
B. public property

C. public static field

D. protected field

Answer: B

Explanation: For a public the type or member can be accessed by any other code in the same assembly or another assembly that references it.
Reference: Access Modifiers (C# Programming Guide) https://msdn.microsoft.com/en-us/library/ms173121.aspx

NEW QUESTION 278
You are creating a class library that will be used in a web application. You need to ensure that the class library assembly is strongly named. What should you do?
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A. Use the csc.exe ftarget:Library option when building the application.
B. Use the AL.exe command-line tool.

C. Use the aspnet_regiis.exe command-line tool.

D. Use the EdmGen.exe command-line tool.

Answer: B

Explanation: The Windows Software Development Kit (SDK) provides several ways to sign an assembly with a strong name:

* Using the Assembly Linker (Al.exe) provided by the Windows SDK.

* Using assembly attributes to insert the strong name information in your code. You can use either the AssemblyKeyFileAttribute or the
AssemblyKeyNameAttribute, depending on where the key file to be used is located.

* Using compiler options such /keyfile or /delaysign in C# and Visual Basic, or the /KEYFILE or

/DELAYSIGN linker option in C++. (For information on delay signing, see Delay Signing an Assembly.) Note:

* A strong name consists of the assembly's identity—it's simple text name, version number, and culture information (if provided)—plus a public key and a digital
signature. It is generated from an assembly file (the file that contains the assembly manifest, which in turn contains the names and hashes of all the files that make
up the assembly), using the corresponding private key. Microsoft® Visual Studio® .NET and other development tools provided in the .NET Framework SDK can
assign strong names to an assembly. Assemblies with the same strong name are expected to be identical.

NEW QUESTION 279

You are developing an application that includes methods named EvaluateLoan, ProcessLoan, and FundLoan. The application defines build configurations named
TRIAL, BASIC, and ADVANCED.

You have the following requirements:

The TRIAL build configuration must run only the EvaluateLoan() method. The BASIC build configuration must run all three methods.

The ADVANCED build configuration must run only the EvaluateLoan() and ProcessLoan() methods. You need to meet the requirements.

Which code segment should you use?

A #if
Fwar H
¥error
Fels
¥war
fwar
fwarn:
felige
¥warning EvaluateLoan{)
iwarning Processloan{)
F=rror Fundloan()
¥endi
B. #if TRIAL
Evaluareloan()
#elif ADVANCELD
swva_uateLoan{)
FrocessLoan ()
FundLoan() ;
Fgeiss
ZvaivacelLoan() 2
Procezsloan ()
fendif
C. #if TRIAL
Evalusceloan() :
¥elif BASIC
Evaluateloan|)
Frocesx oan() 2
FundLoan ()
felae
Zvaluateloan()
Procesaloan():
fendif
D. #if TRIAI
EvaluatelLoan()
¥ellif BASIC
TvaluateLoan() :
Proceasloan|)
ferror FundLoan(
telse
ZvaluateLoan() :
ProcessLoen ()
tundioan():
Fendif
A. Option A
B. Option B
C. Option C
Answer: C

Explanation: Incorrect:
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Not B: The BASIC configuration must run all three methods. Not D: The BASIC configuration must run all three methods.

NEW QUESTION 281
You are debugging a 64-bit C# application.

Users report System.OutOfMemoryException exceptions. The system is attempting to use arrays larger than 2 GB in size.

You need to ensure that the application can use arrays larger than 2 GB. What should you do?

A. Add the /3GB switch to the boot.ini file for the operating system.

B. Set the IMAGE_FILE_LARGE_ADDRESS_AWARE flag in the image header for the application executable file.

C. Set the value of the gcAllowVeryLargeObjects property to true in the application configuration file.
D. Set the value of the user-mode virtual address space setting for the operating system to MAX.

Answer: C

Explanation: On 64-bit platforms the gcAllowVeryLargeObjects enables arrays that are greater than 2 gigabytes (GB) in total size.
Reference: <gcAllowVeryLargeObjects> Element https://msdn.microsoft.com/en-us/library/hh285054(v=vs.110).aspx

NEW QUESTION 286

You develop an application by using C#. The application counts the number of times a specific word appears within a set of text files. The application includes the
following code. (Line numbers are included for reference only.)

01 clasas Counter

o = R e P e

03 Syatem.Collections.Concurrent.Con

- = . P B W o mie g o P
E] new System.Collections.Concurre

05 it el hotioncDirecstoryinfor Proc

- ™y . T v i —_—

07 return {dirInfo =

- &

= - - T e P e

ak-} var files = dir‘nfo.Gechiles|

1A o g Feav+h T3 £ 3= =

10 filea . FozAli<Eileinforx|

31 fileInfn =>

=1

4 &

13 var fileContent = Fila Haa

L S i Lo B Qe 4 Fmad A

a3 var sh = new Strl A F= AR L.

= ;,._u,:a--n ar va S -.:-'E“-,
2

18

Ry = s

17 ab.Append (chazr.Islastoer |

T4Q

18

=iy ooy B e T E =

i% string{}! wordsInFil e = 3ah

20 StringsplirclOptirons.emove

L1 foreach (var word in words

A

s

R

e nh

2=

= |

2 5 ETS pa—

£B ar directories = dirInfo.Get

o R | e ma -~ - a] ™. i~ " s

27 directories.ForAlli<Directoryl

28 } :

k]

Pt

You have the following requirements:

TS ™ = a - £ = . - -
currentictionary<atiring, imt> wordCount
o T A T A i e ey Sy e == F
nt.Concurrentiictionary<strin d. E>(};
,-.35: -..-.-.._-H,.ulull

________ -4
("*.ca"] AsParallel<Filieinfa>(];
dhallTaxc(filelinfo.Pullllame)

(9

ncent)

- - 3 s o - ™ b - —— e

rall val.loStriag () .Tolowerinvarianc()
- Pt o — = H o LR
fasString () .2plicinew [:4' 138
EEpPLYEnTrias)

InFilie]

Directories() .AsParallel<NirectoryIinfeo>|()
nfo>([Procesalirectory()):

Populate the _wordCounts object with a list of words and the number of occurrences of each word. Ensure that updates to the ConcurrentDictionary object can

happen in parallel.
You need to complete the relevant code.
Which code segment should you insert at line 23?

A _wordCounts.Add0rUpdate (word, 1,

B. int
if

vaiue,

[ wordCounts.TryGetValue (word,

wordCountsiword] vaiue++;

(=,

out wFaliue] )

else
_wordCountsiwoxrd] = 1]
C. war value = _wordCounts.GetOrhdd (woxrd, 0);
_wordCounts [word]l = wvalue+t+;
O. var value = wordCounts.Getlradd (word, 02):
_wordCounts.TryUpdate (word, valuwe + 1, walue):
A. Option A
B. Option B
C. Option C
D. Option D

The Leader of IT Certification

visit - https://www.certleader.com



CertLeader® 100% Valid and Newest Version 70-483 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/70-483-dumps.html (288 Q&As)

Answer: A

Explanation: The ConcurrentDictionary<TKey, TValue>.AddOrUpdate method adds a key/value pair to the ConcurrentDictionary<TKey, TValue> if the key does

not already exist, or updates a key/value pair in the ConcurrentDictionary<TKey,TValue> if the key already exists.
Example:

/I Construct a ConcurrentDictionary

ConcurrentDictionary<int, int> cd = new ConcurrentDictionary<int, int>();

// Bombard the ConcurrentDictionary with 10000 competing AddOrUpdates Parallel.For(0, 10000, i =>

{

/I Initial call will set cd[1] = 1.

/I Ensuing calls will set cd[1] = cd[1] + 1 cd.AddOrUpdate(1, 1, (key, oldValue) => oldValue + 1);

D

Console.WriteLine("After 10000 AddOrUpdates, cd[1] = {0}, should be 10000", cd[1]); Reference: ConcurrentDictionary<TKey, TValue>.AddOrUpdate Method

https://msdn.microsoft.com/en-us/library/ee378665(v=vs.110).aspx

NEW QUESTION 288

You are evaluating a method that calculates loan interest. The application includes the following code segment. (Line numbers are included for reference only.)

01 private static decimal Calculateinterest (decimal lopanimount, int loanTerm)
02§

03 decimal imterestimount;

04 decimal IoanRate;

05 if (IoanTerm > O && loanTerm < S5 && lLoandmount < 5000m)
o6

07 lopanBate = 0.045m;

i

05 eige if (loanTerm > 5 && loanfmount > S000m)

il loanBate = 0.0Z5m:;

12

13 eizge

15 ilpanBate = 0.055m;

16

17 interestimount = loanfmount * loanfate * loanTerm:

is return InterestAmount;

-

When the loanTerm value is 5 and the loanAmount value is 4500, the loanRate must be set to 6.5 percent.
You need to adjust the loanRate value to meet the requirements. What should you do?

A. Replace line 15 with the following code segment: loanRate = 0.065m;

B. Replace line 07 with the following code segment: loanRate = 0.065m;

C. Replace line 17 with the following code segment: interestAmount = loanAmount * 0.065m * loanTerm;
D. Replace line 04 with the following code segment: decimal loanRate = 0.065m;

Answer: A

Explanation: Line 15 will be executed when the loanTerm value is 5.

NEW QUESTION 291
You are developing a C# application. The application includes the following code segment, (Line numbers are included for reference only.)

=T
N, -

........

.,,
w
1]
[

I

L1

i e
=

(47

"

5 R w3
¥

I
=5 oy |+ B
g B |
[
N =i
F 0
i

-]

(i
b g

1
[
L
i
[ I I I e B
0 00

-
A N ]

i
o i (=
I =l

(1]

} o wlbs ik Bl @

The application fails at line 17 with the following error message: "An item with the same key has already been added.”
You need to resolve the error.
Which code segment should you insert at line 16?
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A, if ('beams.ContainsHev (115))

B foreach (2 beam in beams.Values.Where(t =
C foreach (KeyValuePair<int, = * key in beams
O foreach (int key in beams.Xeys.Wherelk => k

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

. Id 1=
Wherelt
115))

115))

Explanation: The dictionary<TKey, TValue>.ContainsKey method (TKey) determines whether the Dictionary<TKey,TValue> contains the specified key.
Reference: Dictionary<TKey, TValue>.ContainsKey Method (TKey) https://msdn.microsoft.com/en-us/library/kw5aaea4(v=vs.110).aspx

NEW QUESTION 295

You need to write a console application that meets the following requirements:

If the application is compiled in Debug mode, the console output must display Entering debug mode. If the application is compiled in Release mode, the console
output must display Entering release mode.

Which code should you use?

TR
t=p=g iy

-, fdefine

RricelLine|(
gdefine RELEASE
Writeline ("E
B if(System. . Beflacrnion
(typecf (Sy=cem.Diagno
Briceline|
WritelLine|["E
» tregiron DEBUG
WritelLine |
tendregion
Airiteline ["E
$endregion
L. §if (DEBDSG)
WriceLine |
felif (RELEASE)
WriteLine( "R
$ondlf
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

T

Explanation: #elif lets you create a compound conditional directive. The #elif expression will be evaluated if neither the preceding #if (C# Reference) nor any

preceding, optional, #elif directive expressions evaluate to true. If a #elif expression evaluates to true, the compiler evaluates all the code between the #elif and the
next conditional directive. For example:

#define VC7
/...

#if debug Console.Writeline("Debug build");

#elif VC7

Console.Writeline("Visual Studio 7");

#endif Incorrect: Not B:

* System.Refilection.Assembly.GetExecutingAssembly Method Gets the assembly that contains the code that is currently executing.

* Assembly.lsDefined Method

Indicates whether or not a specified attribute has been applied to the assembly.
* System.Dignostics.Debugger Class Enables communication with a debugger. Property: IsAttached
Gets a value that indicates whether a debugger is attached to the process.
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NEW QUESTION 299

You are developing an application by using C#. The application will write events to an event log. You plan to deploy the application to a server.
You create an event source named AppSource and a custom log named AppLog on the server. You need to write events to the custom log.

Which code segment should you use?

L P

1} - ¥ wp T - -
=, Fuhii 1140 WILE®LD entlogl(atring messAgE,
avantTiog = = S N
Nt LY UES
pveantlog . FritceEncr i Y- B - ) msoentLogEnt T T
A Log Flisinu s=age et LOgQEOLIYilYyEs
] uh raTafrvant 7 (=T el LTl ]
o 1 TiTEl oL veEntlo {8 L 1ng LE R el
ereantLog W Spurce I
e AT = o =

- T e o =k = -
evenLLlLog.AIlTecVEeEnNc(eTENLLIN2Tance, Iezage

e w -
i WriteloDvent g IITI Telrage
evantlog = 5 rom = E
& e Loag.WeiteEner EARAGE)
:; NiA1C d WritaToEvse TLOgISTI1ing mExsags
tYeEnTLog = ne sourse = "Ry
evenclog.Weiteincry (message, svanclogEncrylyps):
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

Explanation: Source should be AppSource:
* New-EventLog

EnakleRails

IELYLYF

ATy
renLe
T

2]

Creates a new event log and a new event source on a local or remote computer. Parameters include:

-Source<String[]>

Specifies the names of the event log sources, such as application programs that write to the event log. This parameter is required.

NEW QUESTION 301

You are developing an application that will manage customer records. The application includes a method named FindCustomer.

Users must be able to locate customer records by using the customer identifier or customer name. You need to implement the FindCustomer() method to meet the

requirement.

Which two sets of method signatures can you use to achieve this goal? (Each correct answer presents a complete solution. Choose two.)

A, public static FindCustomer (int id
public static IITORE FindCuatomer (3tring
public atatic void FindCustomer (Iint id)

B public static FindCustomer{int id)
paubhlic static Cuacol FindCuscomer {anring
public scatic FindCustomer (int id,

C. public static FiadCustomer {int id
public BTAaC] FindCustomer (STrinm
public ztatic FindCustomer {]

D public scatcic FindCustomer{int id
public stati FindCustomer (atring
public static = tindlustomer {int? i

A. Option A
B. Option B
C. Option C
D. Option D
Answer: BD

NEW QUESTION 303
You are modifying an existing application.

The application includes a Loan class and a Customer class. The following code segment defines the classes.
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1
&)
= B
11
o
b
"
1

public decimal Amoun get: sex;
public decimal Hace get: set;: |
public int Term get; set; }
}
class Customer
public Customer{2tring firstlame, =atring lastMame, ; <Loan>» loans)
Firscthame = firstHame;
Lastllame = lastllame;
LoanCollection = lpoans:
public string FirstHame get. 3etc;
public string LastName get; 3et; }
puhlic Collestaon «Lcany LoanCollection { gec: =ec: |

You populate a collection named customer-Collection with Customer and Loan objects by using the following code segment:

C1on< scamer> customerlollection = new Collegrion<Customer>(];
oelliection<loany» customerbLoens = npew Loliseciioncioani>|) s
customerlLoans . Add (new Loan(l800m, 2, O0.0Z5m)):
customerLoans.Add (new n{3000m, 4, 0.045m)};
customerLeoans . Add (new Loan(5000m, &, 0.0495m));
customerCollection.Add (new Customer ("Steve™", "Jones", cuscomerLoandg)]:

You create a largeCustomerLoans collection to store the Loan objects by using the following code segment:
Collection<Loan> largeCustomerLoans = new Collection<Loan>();
All loans with an Amount value greater than or equal to 4000 must be tracked. You need to populate the largeCustomerLoans collection with Loan objects. Which
code segment should you use?
~ A foreach (Customer customer in customerCollection)
Iforeach (Loan lpan in customer.loanlCollection

if [(loan.BEmount »>= 4000m)

customer.LoanCollection.hdd ({loan) ;

foreach (Loan loan in largeCustomerlLoans)

H
L foreach | lpan in largeCuscomerloans)
foreach | ton customer in cuztomerCollection
if (loan.Amount >= 4000m)
customer.LoanCollection.Add(loan) ;
1
L
(] foreach (Cust =T Gustomer in customerCollection
foreach | loan in customer.lLoanCollection)

if (loan.iAmount >= 4050m)

largeCustomerLoans.Add (loan) ;
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: We must add to the largeCustomerLoans collection, not the customerLoanCollection.
We iterate through each customer in customerCollection and check each loan belonging to this customer.

NEW QUESTION 304
You have the following code. (Line numbers are included for reference only.)

@1 Lisidl » products = new ‘ (

=

a3 new Pro t{} { Mame = "Strawberry”, CategoryIl = 1
@l new t{) { Name = "Bamana”, CategoryID = 1 },
@s 1

@6 List sduct» B _Products = (Listg icT)

@7

@3 from product in products

(51} where (product.Name.StartsWith({" 68"}

1@ select new { Name = product.Mame |

11

When you execute the code, you get an exception.
You need to ensure that B_Products contain all of the products that start with the letter “B”. What should you do?

A. Replace line 06 with the following code.

[} B Products = sduet[])

B. Replace ine 10 with the following codle.

zelect product.Mame

C. Replace ine 06 with the following code.

4 t>» B_Producis = ( 5y AP

0. Replace ine 10 with the following code.

select product

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: Simply select the product items.

NEW QUESTION 308

You need to write a method that retrieves data from a Microsoft Access 2013 database. The method must meet the following requirements:
Be read-only.

Be able to use the data before the entire data set is retrieved.

Minimize the amount of system overhead and the amount of memory usage. Which type of object should you use in the method?

A. DbDataAdapter

B. unTyped DataSet
C. OleDbDataAdapter
D. DbDataReader

Answer: D
Explanation: The DbDataReader class reads a forward-only stream of rows from a data source.

Reference: DbDataReader Class
https://msdn.microsoft.com/en-us/library/system.data.common.dbdatareader(v=vs.110).aspx
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NEW QUESTION 309

You are developing an application that contains a class named TheaterCustomer and a method named ProcessTheaterCustomer. The ProcessTheaterCustomer()
method accepts a TheaterCustomer object as the input parameter.

You have the following requirements:

Store the TheaterCustomer objects in a collection.

Ensure that the ProcessTheaterCustomer() method processes the TheaterCustomer objects in the

reverse order in which they are placed into the collection. You need to meet the requirements.

What should you do?

A. Create a System.Collections.Queue collectio

B. Use the Enqueue() method to add TheaterCustomer objects to the collectio

C. Use the Dequeue() method to pass the objects to the ProcessTheaterCustomer() method.
D. Create a System.Collections.ArrayList collectio

E. Use the Insert() method to add TheaterCustomer objects to the collectio

F. Use the Remove() method to pass the objects to the ProcessTheaterCustomer() method.
G. Create a System.Collections.Stack collectio

H. Use the Push() method to add TheaterCustomer objects to the collectio

I. Use the Pop() method to pass the objects to the ProcessTheaterCustomer() method.

J. Create a System.Collections.Queue collectio

K. Use the Enqueue() method to add TheaterCustomer objects to the collectio

L. Use the Peek() method to pass the objects to the ProcessTheaterCustomer() method.

Answer: C

Explanation: A stack is the appropriate collection here. In computer science, a stack or LIFO (last in, first out) is an abstract data type that serves as a collection
of elements, with two principal operations: push, which adds an element to the collection, and pop, which removes the last element that was added. Reference:
https://en.wikipedia.org/wiki/Stack _(abstract_data_type)

NEW QUESTION 310

DRAG DROP

You are developing a class named Temperature.

You need to ensure that collections of Temperature objects are sortable. You have the following code:

Target 1
L
public double Fahrenheit { get; sat;
public int Target 2
phject obj)
if {obj == null) return 1;
«ar otherTemperature = obj &s
f{otherTemperature != null)
eturn Target 3
throw new t f ("Object iz not a Temperature™);

Which code segments should you include in Target 1, Target 2 and Target 3 to complete the code? (To answer, drag the appropriate code segments to the correct
targets in the answer area. Each code segment may be used once, more than once, or not at all. You may need to drag the split bar
between panes or scroll to view content.)

Code Segments Answer Area
public class ) . ‘ Target 1
Code Segment
piib 1
CompareTa o
Target 2
L2
Equsls ° Code Segment
]
a
this.Fahrenkeit.Compare (otherTemperature.Fahrenhelt
;;.‘1__'_-|;r
otherTespersture.Fahrenhelt.ComgareT hiz.Fahrenhell); T
Loge >egment
Answer:

Explanation: Note: Target 1:

The role of IComparable is to provide a method of comparing two objects of a particular type. This is necessary if you want to provide any ordering capability for
your object.

Incorrect: The role of IComparer is to provide additional comparison mechanisms. For example, you may want to provide ordering of your class on several fields or
properties, ascending and descending order on the same field, or both.

Target 2, Target 3: Example:

/I Implement IComparable CompareTo method - provide default sort order. int IComparable.CompareTo(object obj)

{
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car c=(car)obj;
return String.Compare(this.make,c.make);

}

Reference: How to use the IComparable and IComparer interfaces in Visual C# https://support.microsoft.com/en-us/kb/320727

NEW QUESTION 313
HOTSPOT
A developer designs an interface that contains the following code:

public class Class] @ Clazs:
j.
public interface INewlinte
vold Methodl();
j.
pubklic class 1 U
vold INswIntertace.Methadl()

throw new NotimplementedbEdception]

|
1

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
Answer Area

Statement Yes No

If you call Methodl from an instance of Class2, an exception
will be thrown,

If you cast an instance of Classl into INewlnterface, an
exception will be thrown. - ~

Class2 uses an implicit implementation of INewInterface.

Answer:

Explanation:
Statement

Yes

No

If you call Methodl from an instance of Class2, an exception
will be thrown.

If you cast an instance of Classl into INewInterface, an
exception will be thrown.

Class2 uses an implicit implementation of INewinterface.

NEW QUESTION 317
You have the following code (line numbers are included for reference only):
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81 public clacss

@3 public static nection Create(
a4 {

a5 return ne f x

a6

a7

a8

You need to ensure that new instances of Connection can be created only by other classes by calling the Create method. The solution must allow classes to inherit

from Connection.
What should you do?

A. Replace line 01 with the following code:

el
bt}

public abstract

BE. Replace ine 01 with the following code:

C. Insert the following code at [in

D. Insert the following code at lin

oy i

LS

protected

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation: The following list provides the main features of a static class:

* Contains only static members.

* Cannot be instantiated.

* |s sealed.

* Cannot contain Instance Constructors.

e 07

_—

e 07

Creating a static class is therefore basically the same as creating a class that contains only static members and a private constructor. A private constructor

prevents the class from being instantiated. Incorrect:

Not A: An abstract method is a method that is declared without an implementation. Not C: Private methods can be called from derived classes.
Reference: Static Classes and Static Class Members (C# Programming Guide) https://msdn.microsoft.com/en-us/library/79b3xss3.aspx

NEW QUESTION 320
DRAG DROP
You write the following code.

SRR
> TY oe

.Targer 2{t =» t.GetTypes(})

Jwherelt =» t.IsClass A& t.asss

5 = (Target l1.CurrentDomain.

mbly == this.GetTy

GetiAssemblies!

I:._- i

You need to get the list of all the types defined in the assembly that is being executed currently. How should you complete the code? To answer, drag the
appropriate code elements to the correct targets in the answer area. Each code element may be used once, more than once, or not at all. You may need to drag

the split bar between panes or scroll to view content.

Code Segments

AppDomalirn
Assembly
IsClass
select

SelectMany

Answer:

Explanation: The AppDomain.CurrentDomain.GetAssemblies() gives you all assemblies loaded in the current application domain.
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The Assembly class provides a GetTypes() method to retrieve all types within that particular assembly.
Example: Using Ling: IEnumerable<Type> types =

from a in AppDomain.CurrentDomain.GetAssemblies() from t in a.GetTypes()

select t;

Reference: http://stackoverflow.com/questions/4692340/find-types-in-all-assemblies

NEW QUESTION 325

You need to write a console application that meets the following requirements:

If the application is compiled in Debug mode, the console output must display Entering debug mode. If the application is compiled in Release mode, the console
output must display Entering release mode.

Which code should you use?

A, #region DEBUG

JHriteline{"Entering debug mode™};
Aend :E'h.'i.-!'
#region RELEASE
Writeldnef "Er ing release =" )5
#EnNdreglon
E‘_ d41it (TRACE)
Jritel ine{"Entering E }3
e
He if
C iT{System.Reflection, .GetExecutingfssembly( ) . IsDefined
typeof{System.Diagnostics. , falsel)
JriteLine("Er -ing debug mode™);
JWriteLine("Entering release mode™);
o #if (DEBUG)
Jdriteline{"Entering debug mode™)
#elif (RELEASE
writeline! "Entering relsase mode
#endif
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

Explanation: * Programmatically detecting Release/Debug mode (.NET) Boolean isDebugMode = false;
#if DEBUG

isDebugMode = true;

* #elif

#elif lets you create a compound conditional directive. Example:

#define VC7

Il...

#if debug Console.Writeline(“Debug build”);

#elif VC7

Console.Writeline(*Visual Studio 77);

#endif

Reference: http://stackoverflow.com/questions/654450/programmatically-detecting-release-debugmode- net

NEW QUESTION 330

You are creating an application that reads from a database.

You need to use different databases during the development phase and the testing phase by using conditional compilation techniques.
What should you do?

A. Configure the Define TRACE constant setting in Microsoft Visual Studio.

B. Specify the /define compiler option.

C. Run the Assembly Linker tool from the Windows Software Development Kit (Windows SDK).
D. Decorate the code by using the [assembly:AssemblyDelaySignAttribute(true)] attribute.

Answer: B

Explanation: You can specify the compiler settings for your application in several ways:

* The property pages

* The command line

* #CONST (for Visual Basic) and #define (for C#)

Note: You can have either the Trace or Debug conditional attribute turned on for a build, or both, or neither. Thus, there are four types of build: Debug, Trace, both,
or neither. Some release builds for production deployment might contain neither; most debugging builds contain both.

Incorrect answers:

Not A: TRACE is used to enable tracing. It is not used for conditional compilation. Reference: How to: Compile Conditionally with Trace and Debug
https://msdn.microsoft.com/en-us/library/64yxa344(v=vs.110).aspx
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NEW QUESTION 332
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